B (Z)
CONTENTS

LV

A EEASEHI IR

INDEXABLE MILLING TOOLS OVERVIEW

A EREIT] Ban 2 AN

INDEXABLE MILLING TOOLS CODE KEY

AR EEET] a2 AN

INDEXABLE MILLING INSERTS CODE KEY

A SHITIERS

INDEXABLE MILLING TOOLS

EHRIERT

FACE MILLING TOOLS

V) =r= 1 AEY]

S QUARE-SHOULDER MILLING TOOLS

Uiz VAES]

PROFILE MILLING TOOLS

=EDHIIRS

SIDE AND FACE MILLING TOOLS

= IEST

CHAMFER MILLING TOOLS

iRetT) (Kites ) &Il

HIGH FEED MILLING CUTTER

L raves Y REY ]

HELICAL END FACE MILLING TOOLS

M5 TR 58]

END MILL/ FACE MILL

B (=)
CONTENTS

.

AL fLEh RS

INDEXABLE U DRILL

2HITJE R

BORING TOOLS

P104~P108

P109~P110

P111~P112

P113~P236

P113~P164

P165~P186

P187~P193

P194~P214

P215~P217

P218~P229

P230~P231

P232~P236

P237~P252

FESS=F219

#EI7J2 | MILLING TOOLS

AI(UBEHITIR Indexable milling tools

Category

el

Shape
FAR

Feature

FHE

Category

x5

Shape

AR

# = 71 A

Feature

FHIE

i}
Bt
7]

Kr:45° AFO1

KETRIEt, VIRIER
TNRERSE, AT

Kr:45° AFO02

KETRIEIT, PIRIER
TNRtERSE, BRI

I N - NN
& }3 1oy | RAEBE, REERER #ﬁ am | R, EBHEEN
. ==} T
£
?-"?J B%. (= B%.
SEOT 12T3 = SET 12T3
Kr:45° AFO03 ERNXEE, FEER Kr:45° AFO04 871 ORI T] F124T
BEEASR, =5 E%, BESER
165 | #3\, Sl A 7R =3
I B%. S
: £ SE[IN 1203 ( Zccct ) j :
e SE[IN 1504 ( Zccct) p OFKT 05T3(Zccct)
Kr:45° AF04 87 QEFMTI F Ek Kr:45° AF0S 87) 18 7) 984T
E, FEEHTIR RS & : EE, BESIER
187 | BAE, 2 fi\”’*, 19: | i3
5%, M 5%
- OFKRO7 ( Zcccet ) i ODLI[] 0605(EL /R #5)
AR Kr:45° AFO8
Kr:45° AFo06 TIRBTIE, B SMBBTIS, B
BERF, HPEEESISE, fa(..f- - ' BEFUIHIBR A1/, BIR
120-12177 XU “ * 12271
.. 4
ONLI[I 06040107 ( Zecot ) 3 p’ 2%
ON[I 08T50 ( Zecct ) . SNEX 1206ANN (5% & 17)
KI‘:45‘? AFO09 ST TIE, Bk Kr:45° AF10 0RETE, S&F%
iy o BeF, TOAERE. [i:] i MR RIS, FES
? ;ﬁy 12351 o 24 \ - | 1247 N, WL, BES
SNMX 1205X TN (4% B %) i PNMU 1205ANER(5 &)
Kr:45° AF11 UTRRTIS, B sTMARIIE, EEH
wor. . BEYF, PIMIBAIN, B, WEAHRRE LR
o - I e e
i, ; 3 .:__ 5 1253i 127ﬁ E“]Eﬁ’mlo
: ’ . } 2% 5%
L9 XNMX 070508 SNGX 1205ANN
Kr:55° DFO1 2IREINE, SEF Kr:67° DFO1 10T 7B, SEF
MERE, ERER, I TEEEBRERIMIE, R
129 TIE s, 130-131T1| 7, WYISEH, BES,
- J 5%, ’ y B,
HNEX 0905 ( Zccct ) i PNEG 110512R ( Zccct )
Kr:60° DFO02 WEBTf, EYIEIAH sTMBTIS, &5
ST, KYIEZM BEYF, VIHIFE®E, A
1327 I, $EREE, 13313451\, SEMMAMh R LR,
B3, sx.
LNKT 2510 ( Zcccet ) R365-1505ZNE ( LLi%F)
Kr:75° EF02 WERTf, EIEIH Kr:75° EFO03 ERAEE, EEEE
SRS, KIER o BEEASTIE, b
dE =
B b oW | .| #H

5%
LNKT 1506 ( Zccct )

-

5%
SPKN 1203 ( Zccct )
SPKN 1504 ( Zccct )

THREGCEFBERAERE] X #EEEMKMIEwww.hnsant.com




§AHI #HI7JE | MILLING TOOLS #HIJ7J& | MILLING TOOLS §nu1

Indexable milling tools BJ#EAzEEHEITIE AIEE(UBEHITIE Indexable milling tools

Shape Feature Category Shape Feature Category Shape Feature Category Shape Feature
3] AR el TN el RAR $FE 3] b2 TN HFE
Kr:75° EF04 BAMEIEERS, Kr:75° EFO06 EYHYIRA, KI5 Kr:90° PEO1 . -, Kr:90° PEO1 . —
"- BRI e ; = T AR 8] ) B I HE HIENRT], S YR . ;ajbi;zﬁll”,ﬂ;.;ﬂi)ﬁ
7 L y VANY
1373 f - 1387 | HE — e | 165% 2 LR 1667 §A’¥:
S%. !':.k S%. ‘% 5%, :
SPKL 1204 ( Zocot) tﬁ SPMT 1806 EDER (%) APKT 1504000 ( Zeoet) APKT 16040100 ( Zooet)
Kr:75° EFO08 Kr:88° PF88 Kr:90° PEO2 Kr:90° PEO2
87]51%77)#. EFE‘E@E@ 87]51%7:”#; EFEH"JEE IEN.?)}‘,E, HBE ﬂ } - Eﬁ;)ﬁ, ﬂpgﬂ%ﬁﬂ
EE - B 13971 iHERR RN SHMT 1415 AiHEARE TR ST 16701 | BEBEH MINES W ? ' 168
& ab 8%, 5%, 5%, - B%.
':'. SNGX1205ENN SNGX1205PNN APKT 11T3[J[J ( Zccct) ’ &; APKT 11T3[J[] ( Zccct)
o B, %, 8FEEIT o °
Kr:90° PFO1 Kr:90° PF02 ) B : Kr:90° PEO3 e o Kr:90° PEO04
SRS, EHTHR RERFOTHRER i EANmL, MRS NOFHHENE, TH
H, ZFERKEF =, BATRE, B o n

1697 5%,
APMT 113504PDER ( Zcect)
APMT 160408PDER ( Zccct )

144-146TT | gy T !, -:il A 1705 BN, RS
1 0

. 5%
o204 (Zccct) 5% LDOI[] 1504 ( ZR#wRAt)

SEET 09T308PER ( Zccct )
SEET 120308PER ( Zcccet)

- ]
‘ ‘.. 1437
L

..

\

Kr:90° PFO03 XXIEﬁﬁﬁ. R EIEI A Kr:90° PFO04 5, %, 8%, Kr:90° PEO5 HiEseT], SHIENR Kr:90° PEO5 T, =AiEE
TR, KIEHM RERFNTHRER ; . o . ; oy ,
— i = St 71, HIBIEE AN, 71, YIBIBE AN, Hb
: T, gxEE z 8, ERTH, LHR P ™ ey 7 - HNE
147-148T |y : 1497 | s el ,.1/ 17158 % / 17251
LNKT 1506EN-ZR (Zccot) L5 B M 5% = | y e
i) 1f- LNKT 2007DN-ZR (Zcect) ] - s, H APKT 1705PER (#E% ) = o 7 APKT 1705PER (% [E% )
. LNKT 2510-ZR (Zccot) ” R290-12T308 ( L4 ) a a
. . 1y o WENEERTT, 1R 1y o KEFRIRI, MR E N
Kr:90° PF Kr: PFO7 Kr: PE Kr:90° PE LS
71 | Kri90® PFO6 MBI, B 7 | Kr90 MBI, BFES g | 1907 PEOS BIRBEE, THIES g "o 06 AR, REDLAE, 1
- - KuiFigit, R0HEIA PI7R, BEAM 1K, BIFH90° , EA HIBAME, RiFO0° , EATH
TS | o | BHE, %9ES 15150 | HEHEAN 7 ,;ﬂ 173 | FamT 7] 17457 | mIooe , EBRFMMT
' M 5%, . s%. . % te=) AT 123500PEER (%)
; SOMT 12T308PEER ( = XDMT 120408PDER ( fi AXMT 12350JCIPEER ;
"= f PR e ey AXMT 170501 CJPEER ({7 )
Kr:90° PFO08 ARTETIE, EEE NRRmTIS, Bl Kr:90° PEO7 T o Kr:90° PEO8 %iﬁgggfﬁggﬂéﬁfj%
B, YIHIGR, LR HE 47 71 LI 500 A BT T B miFHe0s B
1525 | @k, YIHIFERE 1535 | fgigit, PIHIEF / 17551 S 176 | FgEmT
5%, % / RoHiT 1035PDER (27 — 5%,
LNMX170808 PNSR ( f£% ) XNEX 0806 ( L&) APMT 1605PDER ({£7% ) ADMT 080304R ( EL7R45 )
- ADMT 120408R ( ELAR45 )
. = 4 47 =]
Kr:90° PF10 g“ﬂiﬁ’ﬂggg?&%ﬁ Kr:90° PF11 TR T, B Kr:90° PEO8 = Kr:90° PEO09 =@ LR, I
,» KA ) N ’ =
HRTIBENE, B L VP BNOMEE, KM LR - o B
15471 B H R S .r_--f 156-15701 | {HERENE. 17711 §%:, &M FAEm / 178 §%-, & 5n
5%, ' F B%. ADMT 080304R ( E/R% ) # . R390-11T30I0 ( %% )
WNMUO080608 (&) = XNGU090508PRHDE (4 B %) ﬁgmlggéggs ng;g; AERD=TFRARE) Yl )
B TAI BT Kr:R  RF02 R Kr:90° PEO09 =@ msRy7, 9 Kr:90° PE10 HRES
.__ -5 Bl R bt HIEAE, REFH 141
S 159-160T1| £%:  |161-16257| RDKW 0803MO ( Zccct ) 1797 90° , EAFREMT - 180T
i RCKT 10T3MO-DR ( Zccct ) i =5 RDKW 10T3/1204MO ( Zccet ) %, e 5%
N ROKT 1608MO-DR | zecet) DKW 1608MO ( Zocet) Ra90- 170400 (WL ) BOMTI 70400 (% )
- ccc = ¢
- RCKT 2006MO-DR ( Zccct ) RDKW 2006MO ( Zccct ) R390-17040001 (%) BDMT17040000 ( 5% )
Kr:R RFO03 XETfi&it, YIHIFEA Kr:R RF04 iR DR IZITEETIE HEET Kr:90° PE11 EEET, KAEIEE
— o B2, S R, MRRE 415 - i, EATHIIE R T
P o NEEEEE i T
‘ s | T | gs 16471 18171 ) 18201 | MT
i : _ . BDMT 11T30ER (%% ) B%.,
J’ RPMT1608 ((E__g)) & 1204m0 (%) BDMT 1704LILIER (=% ) ARV IERRRIPDIER ({70 )

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREGCEFBERAERE] X #EEEMKMIEwww.hnsant.com




§AHI #%HI7JE | MILLING TOOLS #HIJJA | MILLING TOOLS §AMI

Indexable milling tools BI:{7HEREITIE AI(UBEHITIR Indexable milling tools

Category Shape Feature Category Shape Feature

Category Shape Feature Category Shape Feature
5] AR FFE el AR FHE

FHE £ 5 AR FHIE

7 Kr:90° PE12 Kr:90° PE14 Kr:45° ACO1 Kr:60° DCO1
B - ANGBRIK, BFH S ZRET, 14 i
P . -) S, RHEE BAHIE, EEFEMT. INFEER, FLEA, £ . NEEER, FLEMA,
" . -) 1835 184-185F1 % 2155 | ghHlElfE i 3 — 21671 | grBifE

'y 5%, . = _ ) ¢ %, = s%,
Bt LNOIX151008PNR ( 3Ei& 17 ) AXMT11T308 (Zocet, =45) £ 3 SPMT 120408 ( Zccet ) 71 < SPMT 120408 ( Zccct)
7]

2
7] |Kr:30° ZCO1

T 1
Category Shape Feature Category Shape Feature _ ;;Zgj% et B 4% | mERER, 4
%5 20 $HE %5 20 45 4E % s | s rem| o
SPMT 120408 ( Zccct ) Tl &
: 3 | a9 Kr:R RBO02
KriR - RBOT SN ' EEMAMEMT, % pod

I, ESRTRA=@

7, EFHEE
1871 %% . ZDET 08T2 ( Zccct)
ZDET 1103 ( Zccet)

=@ ERMEE, B
raoto0t | TMEER, MR

2% Category Shape Feature Category Shape Feature
ggﬂ ; :255 f %ccc; ; ﬁ;ﬂcﬁ/2°/25/3°/32“3°3 ]| 27N ¥FE 51 27N
CCC
. . Kr:x XKo1 3 ZEE A, BUSBEEYIEIA,
g Kr:R RBO3 NEKES., AFHE g;_ Kr:R RBO04 *ﬁ‘,}ﬁ?ﬂ-, t)]ﬂgﬂj] iﬁgggﬂﬁgigﬁ KtEYIHI, BTt
o WL, REMER, e o THEDRES, B - | e | MI, WEER, £E riog | MT, WEEE, 2
& / 191-19201 | REHEF 7 / 1937 f:f_nm, R TIE # L | am
q i B%.
i ix12001604/2005 ZNMT 1804100-C ( #£7 ) i ©%: SDMT 0978 ( Zecet) : SDMT 09T3-DM ( Zocet )
/2506/3007/3207 ( Zccet) ZNMT2200125-C { E;i:; SDMT 1204 (Zccet) SDMT 1204 ( Zccct )

Krix  XKO2 ERSBERIE, e,

BELRIH],
KL YIEI, ATt mI, WEEE, FH

Category Shape Feature Category Shape Feature 0 .
o B o i 202177| ML, MEER, FE | 220m =
el 27N FFAE ]| 22N ¥F1E : | wm - | IE
P - WPGT 060415ZSR ( Zccet )

Kr:R PTO1 Kr:R PTO1 i WPGT 080615ZSR ( Zcect )
JmE AR, HIES PR, SHIES WPGT 05/06/08/09 { zecet) WPGT 0807257SR ( Zocct )
4R e~ o Krix  XKO3 Krix  XKO3
19471 - 19551 - )
7 8%, ff b s, PN 6TMMBTIS, B PN 6TMATI S, B
; MPHT 060304-DM ( Zccct ) e MPHT 060304-DM ( Zccct ) # e 47 i o
MPHT 080305-DM ( Zccct ) S MPHT 080305-DM ( Zecet ) " 2237 " 2247 | ¢
MPHT 120408-DM ( Zccct ) - MPHT 120408-DM ( Zccct ) é;: s, é;; B Bk,
: . WNMX 09T316NN-MM
Kr:90° PTO1 Kr:90° PTO2 . . 7 L L 7 . (& )
B /138, PIHIE S TIHIEF], %EmMT,
I i 47], ZiFIER
1967 | sx. 198-1997 ) Kr:x EXN N s
MPHT 060304-DM ( Zccct ) %: TIMEEH T FRES 'Elg&f‘ 15"7]9'”’”3’
MPHT 080305-DM ( Zccot ) SR VIR (| vt 2057 | BAEMKAHAMT, vy | DABEETIEH
MPHT 120408-DM ( Zooot ) /12T3/1204/12T4 ( Zcect ) = s > RIELEHET]
_ Kr:90° PTO2 _ WXMU080612RGM :
= YIGIsER, REMT, = ﬂff' TIE SRR LNMUO303ZER
[i1] 471, EFHF H HERER B, PIMIER R, Krix  TE90
7] 2002017 g 7] _ 202-203% BUE, EYERA, - witER, MENS
&% XSEQ 1202/1203 ( Zccet ) 5t 7 %, BEASEETIER ﬂg’ TR, JhatEsess,
7] /12T3/1204/12T4 ( Zccct ) 7] AXMT11T308 (Zceot, = 4%) 22671 KB ET] 228-229T71 ZHEH.
" : o0° +» N 5%, : 5%,
t)]ﬁ']ﬁﬂ. 7%%7]"1, Kr:90 PTO04 ﬂﬁia%gﬁ*ﬂﬁlq:i? LNMUO303ZER 4ANKT060308
471, ZFFHLF ﬂ;ﬂ' MEEEER, PIHIEERR,
2052067 | ENET102304/2804 fﬁ*—; 2072107 | PNET102304/2804
/3304-GM (Zccct) = - /3304-GM (Zccct) Category Shape Feature Category Shape Feature
LNET123804/4304 LNET123804/4304 o 2 4 sk o e 4
14804/5304-GM (Zccct) w 14804/5304-GM (Zccct) 25| AR FHAE 25 AR 5 E
: T) B 37 3 2R Kr:90° PTO5 71 B ST SRR iz Kr:90° PHO1 B, HMEE, £ iz Kr:90° PHO1 BRI, HAEE, £
e, BELL R M TR RE | REGLE, I TR i MR, AEAMTHH 1 R, ABAMITHE
f (\} 21121251 zfi&o ? 213-21451 zf!&o 7 / 2307 e 7 / 2315 e
. LNGX10050101-GM (Zceat) LNGX100501C1-GM (Zcect) 2 2% e gk
= LNGX14070101-GM (Zcect) LNGX1407[1(]-GM (Zccct) 7] et (( Zooet )) 71 P et (( Zooor ))

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREGCEFBERAERE] X #EEEMKMIEwww.hnsant.com

| SANT

—rt
[—1
(=



#HI7J&2 | MILLING TOOLS §AHI §nu1 #HI7JE | MILLING TOOLS

AIEAUEHITIR Indexable milling tools Indexable milling tools RJ#&{UsEHITIE

* B HEHI J) AR SRR

T ARREP A ) HIEIAE R & L&  &gdRE) EHIE

EX-)] pp-E 3| Y141 774 BE(mm) Tool |na||ati0n Position Cutting Direction Right Left Face Milling Tool
Lead Angle Type Of Tools Cutting Edge Length A At;?eggf?fi;:plter w Sffg%id 55
ide-
T Vil Inser/t 7J) i 2R Shape of blade BREIE N AT 8.3 s short
A 450 F Face milling tool m?r%iﬁl%r C D R S T L B B type of*agdapter T Re;;{ct%b;l‘e;Head . N
FEANGET c CEEH yr ER IRRE eneure i AT
D 60° E Shoulder milling tool 5.556 - — — | — 09 — C type of adapter Morse Tool Length Cutter Arbor
D D§2?§D BT %E:_Ct ﬂﬂ‘lﬁ
g | %7 635 06 07 — — 11 — Dtype of adapter Taper L lengthening
E 75° Profile milling tool Z HF J Rt
Straight shank Spline u ZmE7I%kT]
T 1 & 7] 9.525 09 1 09 09 16 — Eiﬁw'}i\ Side And Face
p 900 T slot milling tool . ? roove Wi H12 Milling Tool
N 12.7 1 — .
K B T] 00 12 5 12 12 22 ERmT E;)ﬁuﬁﬂ
High feed milling cutter The deepest machining 104 Helical And Face
z 30° e 15.875 16 19 15 | 15 27 — Milling Tool
|
c Chamfer milling tool 19.050 19 o 19 19 33 o
R El# . )
H BRRESIET] -
Helical end face milling tool 25.400 25 — 25 25 44 25
X %
Special
EKHES
Number Of Type
%iﬁ?’:‘i*ﬂ Shell Structure ‘ ‘
222,27 227,32,40
A 20 B | TIEMI LS ER 2D B s H )
?; g; 22 ! ?: Diameter Tooth
# L 40 % | 50
A ! & 0 |
A ! B !
Type Of 1.13.5 Type Of |
Adapter| 218,20 Adapter| !
250,63,80 238,45,56 |
! | ©100,125,160 |
GB5342-96# i H1950-080 EXEHE T GB5342-96}1 E H19100-0160 EXEHt 7
GB5342-960f@50-@80shell Facmilling Cutter GB5342-960f@100-2160shell Facmilling Cutter
) 101.6 177.8 .
C | @60 D 101.6
& 7 : ; 2 T
# | ! - & 7k ! ZE
| i | ! 63 ] 32 ! | I I I 0
c 1 ! 1 70 o AT | ri‘ﬁ | 80
Type O ‘Z—;% ! Type Of | £23]| |28 !
Adapter Adapter| e T =
| ©200,250 f — f {
GB5342-96#1 £ #93200-33250 GB5342-96 1 E BID315% A EHY
EXEH T EXEHT
MERE. B, EXERSEEFRSALRERFEIIEARZR side-locked Shank. Straight Shank, Morse Taper Shank

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
* ARSI T) K & A i

EEETI A
- ! KESUIH
HEEERE c D R s T v w g Jui { ] ﬂ§§g§
o 2 % (mm) ~PEEE
TR [ RS = =
we| B%i | axwmE | OAmE | RE| B | AxEEE | OAEE o/ o0 8 a4 & 4 re V=M= (mm)
>65° 3.97 06 0 079
h85° I h82° / 80° B 5 I ﬁ N I I ; ; 5'0 05 To 0.99
A B c - 01 1.59
> 65° 5.56 09 ™ 1.98
‘g H| 5 | 2= R| x s | ] 6.0 06 02 238
A . ) e 68.305 06 07 - 11 11 T2 258
: 03 3.18
c| = x Fl % & C:' 9.525 09 | 1 | 09 | 09 | 16 | 16 | 06 T3 397
ﬁ/ ‘ >65° 10.0 10 04 076
K L wll 91 # WE @ Al # % I 17 12.0 12 T4 4.96
— 127 12 15 | 12 12 2 | 22 08 05 5.96
<
15875 16 15 15 27 T5 5.95
w M
O Q O Gl % i £E CI:D 16.0 19 | 16 06 6.35
[0} P R <65° 19.05 19 19 19 33 T6 6.75
T 5 BE G| # S @ 20.0 20 07 704
/\ <> o 25.0 25 25 | 25 09 9.52
s T Vil o . = x | - 254 25 | 25 T9 9.72
) 31.75 31 1 11.11
foo —65° 32 32 12 12.70
At u| % WE
w z YRR E B

*

BE00  (BEEEDE

EUHITNE A A = l
KRs| BRE) Ks| BRE) m 3
m
Q A ) E3£7) H1H1 7] 14 (mm) B RS
A B = 25
"“’3“ 50 s = N N NI >
re TNREEM | BEESD1| EESt | (5% ) MEREEEMER (BRK. X/h5) F / 7 j
A% (mm) AE(mm) | AZE(mm) ® TIABEAE (mm) Kr an K
O
A +0.005 +0.025 $0.025 | oo [r=mml E5 |sosw| ssaw s mER A 450 A 5 0-5 0-0.10
c — D \IXASO F +0.005 +0.013 +0.025 | 635 | +0.08 | +0.08 | ¥0.08 | #0.11 | ¥0.16 | - . 5 o os Py YIE1 5 m
—~ 7 - -uU.
c £0.013 £0.025 10.025 | 9525 | +0.08 | +0.08 | £0.08 | 0.1 | +0.16 | - D 60 B <> R &
127 | +0.13 | +0.13 | +0.13 | +0.15 | - E 75° (o] 7° :E 2-15° 2-0.20 P
H +0.013 +0.013 +0.025 e
15.875| 20.15 | +0.15 | +0.15 | 018 | - . 150 L =
E \br F \I& E +0.025 +0.025 +0.025 | 19.05 | £0.15| +0.15 | #0.15 | +0.18 | - F 85 D 3-20° 3.0.25
20° 25 .
G +0.025 +0.025 +013 | 254 | -— | 018 ] - P 90° E 20° = N WA
® WEFACDA%E(mm) . T 4-25° 4-0.30 W
J +0.005 |#0.05-¥0.13| +0.025 z HE F 25
WiZEE | E=ff EAF |80°%H| 55°% k| 35°%H| EF o
G N K | 0013 |#0.05-+0.13| #0.025 G 30° 5-30 5-0.35
30° 0 6.35 | +0.05 | 20.05 | +0.05 | #0.05 | +0.05 | -
L $0.025 1 £0.05-+0.13| £0.025 | 9595 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 N 0° 6.0.40
M | +0.08-+0.18 |+0.05-+0.13 +0.13 12.7 +0.08 | +0.08 | +0.08 | +0.08 - +0.08 11° Q ’
15.875| +0.10 | £0.10 | +0.10 | +0.10 | — | £0.10 P 7.0.45 TR
P 0| HibES N | $0.08-+0.18 |+0.05-+0.13| +0.025 N -0.
— 19.05 | #0.10 | #0.10 | £0.10 | #0.10 | - | £0.10 Z HE
U | +0.13-+0.38 |+0.08-+0.25 +0.13 25.4 - +0.13 — — — +0.13

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
HEEIIR Kres Vv DOm0 HEETIR Keas VvV DoOmoo0

AFO01 AF02

* J)ELM4 Spare

¥2ZE Threaded Sleeve | 71 F 82T Insert Screw " =F Wrench " =F Wrench TR Insert Y22 Threaded Sleeve| 7] F #8247 Insert Screw " F Wrench " F Wrench

A A A

SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5 SE[]T12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5

M. BENDRS%MNEAE. =2 . L. F&REA. Note: Insert can be Zccct/Mitsubishi/Sandvik/Sumitomo brands. M. BENDRS%MNESAE. =2 . L. F&EA. Note:Insertcan be Zccct/Mitsubishi/Sandvik/Sumitomo brands.

* 71EHEES * 71B#1HEBIE Type of

I N N R N B = o [ [ oo | o | v | » | 5a
AF01.12A22.050.04 40 62.4 50 22 40 6 A 4 0.3 AF02.12A22.050.03 40 62.4 50 22 40 6
AF01.12A22.063.05 50 75.4 63 22 40 6 A 5 0.5 AF02.12A22.063.04 50 75.4 63 22 40 6 A 4 0.5
AF01.12A27.080.06 60 92.4 80 27 50 6 A 6 1.3 AF02.12A27.080.04 60 92.4 80 27 50 6 A 4 1.2
AF01.12B32.100.07 70 112.4 100 32 50 6 B 7 1.8 AF02.12B32.100.05 70 112.4 100 32 50 6 B 5 1.8
AF01.12B40.125.08 80 137.4 125 40 63 6 B 8 3.0 AF02.12B40.125.06 80 137.4 125 40 63 6 B 6 3.55
AF01.12B40.160.10 100 172.4 160 40 63 6 B 10 5.0
AF01.12C60.200.12 160 2124 200 60 63 6 (¢} 12 6.8
AF01.12C60.250.14 200 262.4 250 60 63 6 C 14 11.2
AF01.12D60.315.18 270 327.4 315 60 70 6 D 18 20.8

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7JE | MILLING TOOLS

#H = 71 A

AI(UEEHITIR Indexable milling tools

* 7] B Matching Insert

#H = 7 A

HETIR Keas

FHEITJE

MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

% %’ HZA R~ (mm) Dimension AR
A5 Type NIR
IR AF03

SEET12T3-FM ® 6 O O O 13.4 13.4 3.97 2.55

SEET12T3-SM [ N HNONONONO) 13.4 13.4 3.97 4.1 2.55

SEET12T3-SR O O 13.4 13.4 3.97 4.1 2.55
P N EEEER s
M THR O m [ N | 29° gg°

20°

K EE EEE aIC '

BEERE adl H

N
Wras. Ked [ | o e e B e e e 5
od '

EREM R

® & FETFE Unallocatedstock O AT EETFE Available stock W 7= R A Main application  [] #i & . A Extended application *ﬂﬁﬂﬁ'ﬁ: Spa
s » —
Double Headed Screw Tool chuck screw
SELIN1203 LSE12R/L
WO1R/L DM8x21X LOM5x15.1
SE[IN1504 LSE15R/L sS4

FH: BETNRBWSEKRMEATIF . Note: The Insert Is Zecct Brand.

* 7NAHRES

=
- m—n-

AF03.12A27.080.04 A 4 1.8
AF03.12B32.100.05 100 122 32 50 5.5 B 5 24
AF03.12B40.125.06 125 147 40 63 5.5 B 6 4.4
AF03.12B40.160.08 160 181 40 63 5.5 B 8 6.4
AF03.12C60.200.10 200 221 60 63 55 C 10 8.5
AF03.12C60.250.12 250 270 60 63 5.5 C 12 141
AF03.12D60.315.15 315 353 60 63 5.5 D 15 222
AF03.15A27.080.04 80 103 27 50 7.5 A 4 1.7
AF03.15B32.100.05 100 122 32 50 7.5 B 5 23
AF03.15B40.125.06 125 147 40 63 7.5 B 6 4.2
AF03.15B40.160.08 160 181 40 63 7.5 B 8 6.1
AF03.15C60.200.10 200 221 60 63 7.5 C 10 8.3
AF03.15C60.250.12 250 270 60 63 7.5 C 12 13.6
AF03.15D60.315.15 315 353 60 63 7.5 D 15 21.8

THRAKCEFE RSB X #EEZEMNEwww.hnsant.com

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EHTIR Ko

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
LR P RUNK]

TR 24T Insert JEB Clam HES $) T] R EZET R 5T % F Wrench
ARSI 2 W1r.ench 2 - Double Headed Screw| Tool chuck screw Adjusting Screw
OFKTO05T3 TL60 M4X10 T15T OFKR0704 LOFO7R/L WO2R/L DM8*21 LOM5X15 TMO0608 S3S4
EH: BETNRFEWNSZE#KRIMNEEATIF . Note: The Insert Is Zccct brand. E: BETRBNSEKRMNEEATIH . Note: The insertis Zccct brand.

* 71B#1iEEIS Type of Mil * 71B#iEEIS Typeo

Type EHZAR~F(mm) Dimension Type A:;Eplter
) = =

SO o i B i L i o e B R
AF04.05A22.050.04 40 56 50 22 40 3.5 A 4 0.3 AF04.07A27.080.05 60 91 80 27 63 5 A 5
AF04.05A22.050.05 40 56 50 22 40 35 A 5 0.4 AF04.07B32.100.06 70 111 100 32 63 5 B 6 1.8
AF04.05A22.063.05 50 69 63 22 40 3.5 A 5 0.6 AF04.07B40.125.08 80 136 125 40 63 5 B 8 3.9
AF04.05A27.080.06 60 86 80 27 50 3.5 A 6 1.3 AF04.07B40.160.10 100 171 160 40 63 5 B 10 5.9
AF04.05B32.100.07 70 106 100 30 50 35 B 7 2.6 AF04.07C60.200.12 204 211 200 60 50 5 C 12 7.6
AF04.05B40.125.08 80 130 125 40 63 3.5 B 8 4.2 AF04.07C60.250.16 254 261 250 60 50 5 (¢} 16 13.3
AF04.05B40.160.10 100 165 160 40 63 35 B 10 5.1 AF04.07D60.315.20 319 321 315 60 50 5 D 20 18.3
AF04.05C40.160.10 100 165 160 40 63 35 C 10 4.8

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

Eﬁna Kr:45° v Q Q "Qa \-)

AFO05

* 71 ELBi#4 Spare

T1H Insert 71 F 2%  Insert Screw #=F Wrench

OD[J[J0605 TL60 M5X12 T20T

FH: BETNRZWSERREIIA. Note:The Insert Is Walter brand.

w J1E#&BIS Type of Milling

'|I'yP=e B R~F(mm) pimension A;;Eter

5 o [ o | [ oo | v | = | b
AF05.06A22.050.04 40 60 50 22 40 10
AF05.06A22.063.05 50 73 63 22 40 10
AF05.06A27.080.06 60 90 80 27 50 10
AF05.06B32.100.07 70 110 100 100 50 10 B 7 1.5
AF05.06B40.125.08 80 135 125 125 63 10 B 8 25
AF05.06C40.160.09 100 170 160 160 63 10 (¢} 9 4

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

YtEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

NV DoOme

* J1EHi#F Spare

TR Insert EZ 4T Clamping Screw

b

ON[J[Jo6041] L60 M4X10 T15T
ON[I[JosT5[] L60 M5X12 T20T

FH: BETDRBWSEKRMNEEATIF. Note:The insert is Zccet brand.

* J1E KRS Typeo

Type EARF(mm) Dpimension Aéapter

| =2

25 oo | oo | o0 | o0 | A | a | Ex
40 62 50 22 45 4

AF06.06A22.050.05

AF06.06A22.063.06 50 75 63 22 45 4 A 6 0.5
AF06.06B27.080.07 60 92 80 27 50 4 B 7 1.2
AF06.06B32.100.08 70 112 100 32 63 4 B 8 1.2
ONO06 AF06.06B40.125.09 80 137 125 40 63 4 B 9 2.6
AF06.06C40.160.11 100 172 160 40 63 4 C 11 4.3
AF06.06C60.200.13 160 212 200 60 63 4 C 13 7.6
AF06.06C60.250.15 200 262 250 60 63 4 C 15 13.5
AF06.06D60.315.17 250 327 315 60 70 4 D 17 20.8
AF06.08A22.063.05 50 78 63 22 40 5 A 5 0.5
AF06.08B27.080.06 60 95 80 27 50 5 B 6 1.2
AF06.08B32.100.07 70 115 100 32 63 5 B 7 1.2
AF06.08B40.125.08 80 140 125 40 63 5 B 8 2.6
ONO08
AF06.08C40.160.10 100 175 160 40 63 5 C 10 4.3
AF06.08C60.200.12 160 215 200 60 63 5 C 12 7.6
AF06.08C60.250.14 200 265 250 60 63 5 C 14 13.5
AF06.08D60.315.16 250 330 315 60 70 5 D 16 20.8

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#:HI7JHE | MILLING TOOLS §AHI §AMI #HI7JE | MILLING TOOLS
EEETIR Keas' v Dona EHTIR ke v Domeoy

AFO06 AFO08

@Dl
@D

ap

@01
(o]

o

joXe)
P D2

* 71 ELHi{4 Spare * 7B M4 Spare

TR Insert 71 R #%T Insert Screw R =F Wrench T Insert 71 R 82 %T Insert Screw " =F Wrench

L

L

ON[J[J06041] TL60 M4X10 T15 SNEX1206ANN TL60 M4X10 T15T

ONDILJo8TsL Tl T20 B BETNRFBWSETIKM T Note:The insert is Korloy brand.

EH: RETDHFENSEZ#%MESATIF . Note: The Insert Is Zccct brand.

* 71E#1#EES Type of Milli
* 71 B #HEEIS Type of Milli Type AR ~F(mm) pimension Adapter
A 2 #O
AR (mm) Dimension T = | o0: | oo | o0 | od | H [ % | mx
] =
37 25 20 100 45 4 .

AF06.06W20.025.02 AF08.12A22.063.06 50 76 63 22 40 6 A 6 0.7
AF06.06W25.032.03 44 32 25 110 50 4 W 3 0.3 AF08.12B27.080.07 60 93 80 27 50 6 B 7 1.2
AF06.06W32.040.04 52 40 32 120 55 4 w 4 0.4 AF08.12B32.100.08 70 113 100 32 50 6 B 8 1.7
AF06.08W25.032.02 47 32 25 120 55 5 w 2 0.4 AF08.12B40.125.10 80 138 125 40 63 6 B 10 3.6
AF06.08W32.040.03 55 40 32 120 55 5 w 3 0.5 AF08.12C40.160.12 100 173 160 40 63 6 C 12 4.8
AF06.08W32.050.04 65 50 32 120 55 5 w 4 0.6 AF08.12C60.200.14 150 213 200 60 63 6 C 14 5.3

AF08.12C60.250.16 180 263 250 60 63 6 C 16 12

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
HEtJIE xras

AF09

* 718 M Spar

TR Insert 71 K %247 Insert Screw W F Wrench

A

L

SNMX1205XTN TL60 M4X10 T15T

EH: BETNRZWSERER IR Note:The insert is Taegutec brand

* J1EMHEES Typeo

Type EA R (mm) pimension A*dﬁal:plter
| =
GRS B B B B e
40 63 50 22 40 6

AF09.12A22.050.04 A 4 0.5
AF09.12A22.063.05 50 76 63 22 40 6 A 5 0.7
AF09.12B27.080.06 60 93 80 27 50 6 B 6 1.2
AF09.12B32.100.08 70 113 100 32 50 6 B 8 1.7
AF09.12B40.125.10 80 138 125 40 63 6 B 10 3.6
AF09.12C40.160.14 100 173 160 40 63 6 C 14 4.8
AF09.12C60.200.18 150 213 200 60 63 6 C 18 5.3
AF09.12C60.250.20 180 263 250 60 63 6 C 20 12

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AUI $tHI7JE | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

NV DOm0

* 7] ELH{{¥ Spare

T1F Insert 71 K %247 Insert Screw #F Wrench

L

PNMU1205ANER TL60 M5X12 T20T

EH: BETRENSERETIR . Note:The insert is Kyocera brand.

* J1E##EBISType of Milling

Type BARF(mm) pimension AR ET

6 o [ oo [ oo [ o9 | | = | 2

AF10.12A22.063.05 50 76 63 22 45 5.5

AF10.12B27.080.06 60 93 80 27 50 515/ B 6 1.0
AF10.12B32.100.08 70 113 100 32 50 55 B 8 1.4
AF10.12B40.125.10 80 138 125 40 63 5.5 B 10 215,
AF10.12C40.160.12 100 173 160 40 63 5.5 C 12 3.8
AF10.12C60.200.14 150 213 200 60 63 515 C 14 6.5
AF10.12C60.250.16 180 263 250 60 63 55 C 16 9.1

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
HEtJIE xras

AF11

NV OO

* 71ELMiF Spa

T1R Insert 71 K #24T Insert Screw " =F Wrench

"

e
L
=

XNMX070508 TL60M3.5X10 T15

i BETRS®MNSEA. E/REEB. Note: Insert can be Zccct/Walter brands.

* JIEMEES Type of

Type EHAR~H(mm) Dimension A?;T:Fl’ter
u =
40 50 22 40 4.5

AF11.07A22.050.04

AF11.07A22.063.05 50 63 22 40 4.5 A 5 0.5
AF11.07A27.080.06 60 80 27 50 4.5 A 6 1.2
AF11.07B32.100.07 70 100 32 50 4.5 B 7 1.7
AF11.07B40.125.08 80 125 40 63 4.5 B 8 3.0
AF11.07B40.160.10 100 160 40 63 4.5 B 10 5.2

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

% 7] B k¥ Matching Insert

dS

HZA R~ (mm) Dimension

RS Type R
: I
o 5.36 4.0

XNMX070508-GM 6.98 14.5 0.8
XNMUO705ZNN oe 6.98 14.5 5.36 4.0 0.8
XNMUO705ANN ®@ O O 6.98 14.5 5.36 4.0 0.8
2 = Omm .
M TH® OO m r
'K EL HE EENm oLc @ o
BasE v "
WHREER. KEE [ |
3 JOEN]
@ & [EETF Unallocatedstock O AJ & FE7E Available stock I #7552 F Main application [] #f& 2 FJ Extended application

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EHTIR kees

AF12

* 71ELHF Spa

#H = 71 A

NV OO

T1F Insert 71 K #24T7 Insert Screw R =F Wrench

’.

"

L

SNGX1205ANN

TL60M5X13

T20

W BETARSH®HNGER. ERYE. =igHREM. Note: Insert can be Zccct/Walter/Kolory brands.

* J1EMHEEIS Type of

Type

AF12.12A22.050.04

u =
_ [ oo | o0 | o]
40 50 22

AF12.12A22.063.06 50 63
AF12.12A27.080.07 60 80
AF12.12B32.100.08 70 100
AF12.12B40.125.10 80 125
AF12.12B40.160.12 100 160

T (mm) Dimension Adapter

22

27

32

40

40

7O
T
40 6.5

40 6.5 A 6 0.5
50 6.5 A 7 1.2
50 6.5 B 8 1.8
63 6.5 B 10 3.1
63 6.5 B 12 585

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

YtEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#H = 7 A

* J] B %R Matching Insert

Dz HZA R~ (mm) Dimension
Bl 5 Type R||=R
Z|
SNGX1205ANN O O 12.7 12.7 6.5 5.9 0.8
SNMX1205ANN ( ) () K@} (e} (o) (o) [ ] 12.7 12.7 6.5 5.9 0.8
A = Ommm 5 5 .
M &R OO0 m T
n%%Lk m 0 EEEN a1.C od
BatRE
HAAS, HEe = —
ERE R

@ H&[ETF Unallocatedstock O A% EE7F Available stock W # 7= [ F§ Main application [] #f & FZ F Extended application

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Eﬁna Kr:55°
DFO1

* 71 ELHH4 Spa

TI1E Insert JEZ #8247 Clamping Screw
HNEX0905 #HA: DM6*20 W18N
FH: BENREZWSEH®RINEEAT R, Note: Theinsertis Zecet brand.
* 71E#HEBIS Type of Mi
Type BARF(mm) pimension
s
DF01.09A27.080.08 60 88.5 80 27 50 8.5
DF01.09B32.100.10 70 108.5 100 32 50 8.5
DF01.09B40.125.14 80 133.5 125 40 63 8.5
DF01.09B40.160.18 100 168.5 160 40 63 8.5
DF01.09C60.200.22 150 208.5 200 60 63 8.5
DF01.09C60.250.28 200 258.5 250 60 63 8.5
DF01.09D60.315.32 270 323.5 315 60 63 8.5

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

7O
X

C
Cc
D

Wrench
S3

Adapter

22

28

32

5.6

6.3

10.3

21.7

YtEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#H = 7 A

mEtJIE keer
DFO1

~ @

* 71EHH4 Spa

T1F Insert 71 K %247 Insert Screw

L

PNEG110512R TL60 M4X10

FH: BETDREWSEKRMNEEATIF. Note: Theinsertis Zccct brand.
* 71EMEBIS Type of
Type HZA R~ (mm) Dimension A}(;aé)lter
=]
40 60 50 22 45 5

DF01.11A22.050.04

DF01.11A22.063.05 50 73 63 22 50 5) A 5 0.8
DF01.11B27.080.06 60 90 80 27 50 5 B 6 1.1
TI‘T( DF01.11B32.100.07 70 110 100 32 50 5 B 7 1.8
g DF01.11B40.125.08 80 135 125 40 63 5 B 8 2.9
DF01.11B40.160.10 100 170 160 40 63 5 B 10 5.6
DF01.11C60.200.12 150 210 200 60 63 5 C 12 7.9
DF01.11C60.250.14 180 260 250 60 63 5) (¢} 14 13.4
DF01.11A22.050.05 40 60 50 22 45 5 A 5 0.6
DF01.11A22.063.06 50 73 63 22 50 5 A 6 0.9
DF01.11B27.080.08 60 90 80 27 50 5 B 8 1.2
; DF01.11B32.100.10 70 110 100 32 50 5 B 10 1.9
B DF01.11B40.125.12 80 135 125 40 63 5 B 12 3.2
DF01.11B40.160.14 100 170 160 40 63 5) B 14 6.4
DF01.11C60.200.16 150 210 200 60 63 5 C 16 8.5
DFO01.11C60.250.18 180 260 250 60 63 5 C 18 18

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
mEtJIE keer v K

DFO1

* 71 ELHi{+ Spare

T1R Insert JE & 424T Clamping Screw E#R Clamp #"=F Wrench

PNEG110512R DM6*20 W18N S3

EH: BETRBWNSE%RIMNEEATIF . Note: The insertis Zccct brand.

* 71B#%BIS Type of

Category Type E X R~F(mm) Dimension Adapter [ Tooth

o =] *_!?: D ﬁﬁ
60 90.1 80 50 5

DF01.11A27.080.10 27 A 10
= DF01.11B32.100.14 70 110.1 100 32 50 5 B 14 1.6
g DF01.11B40.125.18 80 135.1 125 40 63 5 B 18 3.2
DF01.11B40.160.22 100 170.1 160 40 63 5 B 22 5.8

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AUI $tHI7JE | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
mEtJ]E xeeo 0 K

P01

@9
@D2

* 71ELHi4 Spar

T1R Insert J1# Shim J1 B 24T Insert Screw 1B 12 £T Shim Screw #F Wrench

A
\ - - %

LNKT2510 LLN25R-ZR TL60 M5X16 L60 M3.5X10 T15T/T20T

FH: BETDRBEWSERMNEEATIF. Note: Theinsertis Zccct brand.

* J1E#MHEES Type of

Trae EARH(mm) pimension
| =
== | o0: | oo | 0 | e | H | a
80 154 125 40 63 17

DF02.25B40.125.05

DF02.25C40.160.06 100 189 160 40 63 17 C 6 6.9

DF02.25C60.200.08 150 229 200 60 63 17 C 8 10.5
DF02.25C60.250.10 160 278 250 60 63 17 C 10 16.7
DF02.25D60.315.12 270 346 315 60 63 17 D 12 27.3

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AMI #HI7JE | MILLING TOOLS
mHEtJ]E kees 0 PR EEtJ]E kees Q @m

DFO03 DFO03

@DI
PD 8i
T
y
)]
@ D2
71 K #247 Insert Screw " F Wrench JE X247 Clamping Screw FER Clamp #RF Wrench
R365-1505ZNE TL60 M4X10 T15T R365-1505ZNE DM6*20 W18N S3

T BETRZWSZLH%ETIIR. Note:The insert is Sandivk brand. EM: BETREWSHUHERITR. Note: The insert is Sandivk brand.

* J1EMEES Typ

* J1EMHEEIS Typeo

Type EARH(mm) pimension

= @D2 @D1 mm“ Type EARH(mm) pimension
DF03.15A22.050.04 40 57 50 22 40 6
S ATEL T = - 3 00 20 5 DF03.15A27.080.10 60 87 80 27 50 6 A 10 14
DF03.15A27.080.06 60 87 80 o7 . 5 DF03.15B32.100.14 70 107 100 32 50 6 B 14 20
DF03.15B32.100.07 = T B - 50 5 B ; 18 DF03.15B40.125.18 80 132 125 40 63 6 B 18 38
DF03.15B40.125.08 80 132 105 20 63 6 B 8 s DF03.15B40.160.22 100 167 160 40 63 6 B 22 57
DF03.15B40.160.10 100 167 160 40 63 6 B 10 52 DF03.15€60.200.28 150 207 200 60 63 6 c 28 102
DF03.15C60.200.12 150 207 200 60 63 6 c 12 7.8 SSOCO0.ZE038 180 257 250 60 63 6 c 36 15.2

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
mEtJIE kers V PRIEK) mEETI B ketse PREK)

AZEEO BEIENO
@D1 , @D1 |

@D1 | @D1

=1k

* 7B K4 Spa

T1F Insert 713 Tool chuck 4R Clamp | E2#24T Clamping Screw Toolichuck sorew #RF Wrench
* 71 ELH#F Spa . : :
TR Insert TI# Shim T R 4247 Insert Screw | JJE42£T Shim Screw " F Wrench SPKN1203 LSP12RIL WO4R/L WM8x17
A @ P S3
ﬁ e SPKN1203 LSP12RIL WO4RIL WM8x22 LOM5x15.1 s
4

LNKT1506 LLN15R-ZR TL60 M4X15 L60 M3X8 T10T/T15T SPKN1504 LSP15R/L WO4R/L WM8x22

FH: BETDREWUSEKRIMNEEBTIR. Note: Theinsertis Zccct brand. B BETIARINSEHMEET L. Note: The insert is Zcoct brand.

* 7B RIS Type of

= EHZA R~ (mm) Dimension Adapter
* TIRMEEE Typeo e ™ e
- o | oo | ed | L | &

I
e £ro0.12827.080.08 " " - o s s A
= | oo: | oo | o0 | ed [ W [ &

EF03.12B27.100.06 100 104 27 50 6 6 B 19

EF02.15B40.125.06 80 137 125 40 63 8 B 6 38
EF03.12B40.125.08 125 129 40 63 6 8 B 35

EF02.15B40.160.08 100 170 160 40 63 8 B 8 6.6
EF03.12B40.160.10 160 164 40 63 6 10 B 57

EF02.15C60.200.10 150 208 200 60 63 8 c 10 96
EF03.12C60.200.12 200 203 60 63 6 12 c 8.2

EF02.15C60.250.12 .
LESEIEE U S ALY = S v % 2 & 12 LE EF03.12C60.250.16 250 253 60 63 6 16 c 13.8

. .315. 250 .
EF02.15D60.315.16 328 315 60 63 8 D 16 25.2 EF03.12D60.315.20 a15 s18 5 o . 2 5 vss
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0
EF03.15B27.100.06 100 104 27 50 8 6 B 18
EF03.15B40.125.08 125 129 40 63 8 8 B 33
EF03.15B40.160.10 160 164 40 63 8 10 B 5.4
EF03.15C60.200.12 200 204 60 63 8 12 C 7.9
EF03.15C60.250.16 250 253 60 63 8 16 C 136
EF03.15D60.315.20 315 318 60 70 8 20 D 23.1

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#eEI17J2 | MILLING TOOLS §AHI
mEEJI B ks v PRUKK)

EF04

* 7B K4 Spare

T1F Insert 71 K %247 Insert Screw R =F Wrench

% A
3 %

SPK[]1204 TL60 M5X12 T20T

R BENREWNSEKIMNEATIR . Note: Theinsertis Zccct brand.

* 71B#iEEIS Typeo

Type EARH(mm) pimension _.E-Oth
EF04.12A22.050.04 40 54 50 22 40 6 A 4
EF04.12A22.063.05 50 66 63 22 50 6 A 5 0.6
EF04.12A27.080.06 60 83 80 27 50 6 A 6 0.9
EF04.12B32.100.07 70 103 100 32 50 6 B 7 1.4
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AHI %tHI7JE | MILLING TOOLS
mEtJIE kers 0 PR

* 718 M Spa

J1F Insert E &84T Clamping Screw R F Wrench

A

SPMT1806EDER TL60 M6X16 T25T

EFH: BETIBEZWSETFTETIK Note: The insert is Kyocera brand.

* 7B HEES Type of

EAR(mm) pimension

= = N =
60 87 80 50 12.4

EF06.18A27.080.04 27 A 4 1.3
EF06.18B32.100.05 70 107 100 32 50 12.4 B 5 2.0
;g EF06.18B40.125.06 80 132 125 40 63 12.4 B 6 3.6
2 EF06.18B40.160.08 100 167 160 40 63 12.4 B 8 5.0
EF06.18C60.200.10 150 207 200 60 63 124 C 10 7.7
EF06.18C60.250.12 180 257 250 60 63 12.4 C 12 12.0
EF06.18A27.080.06 60 87 80 27 50 12.4 A 6 1.3
EF06.18B32.100.07 70 107 100 32 50 12.4 B 7 1.9
% EF06.18B40.125.08 80 132 125 40 63 12.4 B 8 35
E EF06.18B40.160.10 100 167 160 40 63 12.4 B 10 4.9
EF06.18C60.200.12 150 207 200 60 63 12.4 C 12 7.6
EF06.18C60.250.14 180 257 250 60 63 12.4 C 14 17.0

THREAKEFEREBBE R #HEEERNBEwww.hnsant.com




#tEI7JB | MILLING TOOLS

Eiﬁ 7] E Kr:75°

EFO08

* 71ELHHF Spa

T1F Insert

SNGX1205ENN

EH: BREDRSHNEG. BRE.

* JIE MRS Type of

EF08.12A22.050.04

EF08.12A22.063.05

EF08.12A27.080.06

EF08.12B32.100.07

EF08.12B40.125.08

EF08.12B40.160.10

70

80

100

E %84T Clamping Screw

80

100

125

160

.

TL60M5X13

32

40

40

5 FEMA. Note: Insert can be Zccct/Walter/Kolory brands.

50

63

63

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

3 F Wrench

10

#H o= 7 A

WV OmQ

0.3

0.5

1.2

1.7

3.0

4.5

#E7JR | MILLING TOOLS

Indexable milling tools FJ3EALEEHITIE

B o= 1 A

% J]E %R Matching Insert

HZA R~ (mm) Dimension

&S Type N
o | o0
6.5 5.9

SNGX1205ENN OO 12.7 12.7 0.8
SNMX1205ANN @@ OO0O0OO0 () 12.7 12.7 6.5 5.9 0.8
2 = Ommm r r ]
M THR OO0 . r
K BT B0 EEEEN | VanY I
aBEsRE =/
THEE. haE | oL
R A

® EHFFETF Unallocatedstock O FJFETFE Available stock M # % N A Main application [ #h & R F Extended application

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI
EHEEJIE krss v PRRK

PF88

* 71ELHHF Spa

T1F Insert E %84T Clamping Screw

e

3 F Wrench

&
.

SNGX1205PNN TL60M5X13 T20

i BENRSHMNSER. BRE. RigRER. Note: Insert can be Zccct/Walter/Kolory brands.

* 71B#EEIS Typeo

Type HZA R~ (mm) Dimension
- | oo | o0 | w [ W | @ |
40 50 22 40 10

PF88.12A22.050.04

B o= 1 A

* JI B Matching Insert

rEIJTIR

EHZAR~F(mm) Dimension

MILLING TOOLS

Indexable milling tools FJ3EALEEHITIE

B2 Type
KRN
SNGX1205PNN OO0 12.7 12.7 6.5 5.9 0.8
SNMX1205ANN [ N NONONONG 12.7 12.7 6.5 5.9 0.8
P OEmm r .
M FHHR OoOoOm r
K ET B0 EEEHN (A .,
BELE ac—T N/
MAAS. had | N
HERE R

® E&FETF Unallocated stock

O A& EEF Available stock

B % R F Main application

[ #RFE R Extended application

PF88.12A22.063.06 50 63 22 40 10 6 0.5
PF88.12A27.080.07 60 80 27 50 10 7 1.2
PF88.12B32.100.08 70 100 32 50 10 8 1.8
PF88.12B40.125.10 80 125 40 63 10 10 3.1
PF88.12B40.160.12 100 160 40 63 10 12 5.5
PF88.12C60.200.14 160 200 60 63 10 14 7.2

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI
mEEJTIE kroo

PFO1

€ o"o

* JJELMi¥ Spare

] T

TPKN2204 MYL8X18 S4

IR BMETIAEWNSEMINEER IR, Note: Theinsertis Zccct brand.

* 7JE#KBIS Type of
e EHZAR~F(mm) Dimension
== | oz | o0 | e [ v | @
50 63 22 50 15

PF01.22A22.063.03 A 3 0.5
PF01.22A27.080.04 60 80 27 50 15 A 4 0.9
PF01.22B32.100.05 70 100 32 50 15 B 5 1.8
PF01.22B40.125.06 80 125 40 63 15 B 6 25
PF01.22B40.160.07 100 160 40 63 15 B 7 3.6

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AHI #tHI7JE | MILLING TOOLS

Indexable milling tools FJ3EALEEHITIE

EEE TR weso
PFO02

* 7B K4 Spare

TR Insert 71 K 4247 Insert Screw #HF Wrench
i3 y

SEET09T308PER TL60 M3X7 TO8T

EH: BETTHBEWNSEZ#%KMNEEATIR . Note: Theinsertis Zcect brand.

* 71E#11ERIS Type of M

Type E AR~ (mm) Dimension

= oo | o0 | od | n | &
PF02.09A22.050.05 40 50 22 40 6.5
PF02.09A22.063.06 50 63 22 40 6.5
PF02.09A27.080.08 60 80 27 50 6.5
PF02.09B32.100.08 70 100 32 50 6.5 B 8 1.7
PF02.09B32.100.10 70 100 32 50 6.5 B 10 1.7
PF02.09B40.125.12 80 125 40 63 6.5 B 12 2.6

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI
HEETI R xroo

PFO2

* 71 B Spar

71K Insert Y22 Threaded Sleeve | 71 5 3247 Insert Screw R =F wrench | =F Wrench

SEET120308PER S12BSX SM0508 TL60 M3.5X10 TI5T S3.5

FHH: BETREWNSEkRIMEEHA T F . Note: The insert is Zccct brand.

* J1AMHERIS Type of
Category Type E A R~F(mm) Dimension A:;Elter Tf?;;zh
% | =
40 50 22 40 10 3

PF02.12A22.050.03 A
PF02.12A22.063.04 50 63 22 40 10 A 4 0.65
PF02.12A27.080.04 60 80 27 50 10 A 4 0.9
E PF02.12B32.100.05 70 100 32 50 10 B 5) 1.2
B PF02.12B40.125.06 80 125 40 63 10 B 6 3.1
PF02.12C40.160.08 100 160 40 63 10 C 8 4.1
PF02.12C60.200.10 140 200 60 63 10 C 10 6.1
PF02.12C60.250.12 200 250 60 63 10 C 12 10.9
PF02.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5) 0.65
té PF02.12A27.080.06 60 80 27 50 10 A 6 0.9
2 PF02.12B32.100.07 70 100 32 50 10 B 7 1.2
PF02.12B40.125.08 80 125 40 63 10 B 8 3.1
PF02.12C40.160.12 100 160 40 63 10 C 12 4.1

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AHI #tHI7JE | MILLING TOOLS
EEJI R Koo Ny o (PR

* J1EMKES

Type EZARR~F(mm) Dimension

=

5 | o | o0 | od | n | &
40 50 22 40 10

PF02.12A22.050.05

PF02.12A22.063.06 50 63 22 40 10 A 6 0.65
PF02.12A27.080.08 60 80 27 50 10 A 8 0.9
E PF02.12B32.100.10 70 100 32 50 10 B 10 1.2
ki PF02.12B40.125.12 80 125 40 63 10 B 12 3.1
PF02.12C40.160.14 100 160 40 63 10 C 14 41
PF02.12C60.200.16 140 200 60 63 10 C 16 6.1
PF02.12C60.250.18 200 250 60 63 10 C 18 10.9
PF02.12D60.315.24 250 315 60 63 10 D 24 21.6

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#El7JB | MILLING TOOLS

AEEIEEHITIE Indexable milling tools
E5ET] B Keso

PFO3

* 7JJELMi4F Spar

J1F Insert 71 F#84T Insert Screw| 71 B 42£T Shim Screw 3" F Wrench 3" F Wrench
LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7 T15T T10T
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7 T15T T10T

LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10 5T T20T

EH: RETHFEWSEZHRMESAREIIF . Note:The insertis Zccect brand

* 71E#11gZBIS Type of

HA R~ (mm) Dimension Adapter
C:iltegory ( ) A m|
231 &M
X
PF03.15B40.125.06 80 125 40 63 8 B 6 3.2
PF03.15C40.160.08 100 160 40 63 8 C 8 5.1
LN15
PF03.15C60.200.10 150 200 60 63 8 C 10 6.5
PF03.15C60.250.12 200 250 60 63 8 © 12 11.5
PF03.15D60.315.16 250 315 60 63 8 D 16 19.8

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AHI $tHI7JE | MILLING TOOLS

Indexable milling tools PJ3AIEEHITIE
€ ovo

* JIEHREIS S

Category e i
%51 ] &0
o T e e | e = |
PF03.20B40.125.06 80 125 40 63 12 B 6 3.2
LN20 PF03.20C40.160.08 100 160 40 63 12 C 8 581
PF03.20C60.200.10 150 200 60 63 12 C 10 6.5
PF03.20C60.250.12 200 250 60 63 12 (6 12 115
PF03.20D60.315.15 250 315 60 63 12 D 15 19.8
PF03.25B40.125.05 80 125 40 63 15 B 5) 3.2
PF03.25C40.160.06 100 160 40 63 15 C 6 5.1
LN25 PF03.25C60.200.08 150 200 60 63 15 (o] 8 6.5
PF03.25C60.250.10 200 250 60 63 15 C 10 115
PF03.25D60.315.12 250 815 60 63 15 D 12 19.8

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com

| SANT

148



#tEI7J2 | MILLING TOOLS §AHI
Eﬁj]ﬁ Kr:90°

PF04

* 71ELMH4 Spare

71K Insert T8 Shim 2 & Threaded Sleeve| 71 F 12 %T Insert Screw #F Wrench #F Wrench

] g

§nuI $tHI7J2 | MILLING TOOLS

Indexable milling tools FJ3IEEHITIE

EHETIE koo
PF06

Y2 Threaded Sleeve| 7] F #£T Insert Screw #HF Wrench I F Wrench

A

R290-12T308 S12BSX SM0508 TL60 M3.5X10 T15T S3.5

EH: BENRBEWNSELSETRIII A, Note: The insert is Sandvik brand.

* J1EMHEES Type of

Type EHZARSF(mm) Dimension
== o | o | oo | H | % |
40 50 22 40 9

PF04.12A22.050.03

PF04.12A22.063.04 50 63 22 40 9 A 4 0.6
PF04.12B27.080.04 60 80 27 50 9 B 4 0.9
PF04.12B32.100.05 70 100 32 50 9 B 5 1.3
PF04.12B40.125.06 80 125 40 63 9 B 6 27
PF04.12C40.160.08 100 160 40 63 9 C 8 41
PF04.12C60.200.10 150 200 60 63 9 C 10 6.2
PF04.12C60.250.12 180 250 60 63 9 C 12 10.7

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

SOMT12T308PEER S12BSX SM0508 TL60 M3.5X10 T15T S3.5

FH: BENREZWNSZE=ZFMEIIF . Note: The insert is Mitsubishi brand.

* J1E#HEES Type of

Type BEAR(mm) Dimension A?d%ampter

il =

e N B B B R
40 50 22 40 10

PF06.12A22.050.04

PF06.12A22.063.05 50 63 22 40 10 A 5 0.5
PF06.12B27.080.06 60 80 27 50 10 B 6 0.6
PF06.12B32.100.07 70 100 32 50 10 B 7 1.4
PF06.12B40.125.08 80 125 40 63 10 B 8 22
PF06.12C40.160.12 100 160 40 63 10 C 12 3.5
PF06.12C60.200.16 150 200 60 63 10 C 16 6.2
PF06.12C60.250.18 180 250 60 63 10 C 18 10.7

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

aIEEAEEHIJTJE Indexable milling tools
EHETIE Koo

PFO7

§AHI $tHI7JE | MILLING TOOLS

Indexable milling tools PJ3AIEEHITIE

B2 2 Threaded Sleeve | 71 F 82 %T Insert Screw " F Wrench R F Wrench TIFB24T Insert Screw " =F Wrench
XDMT120408PDER S12BSX SM0508 TL60 M3.5X10 T15T S35 LNMX170808PNSR TL60 M4X12 T15T
FH: BENFEWSEERBEIIF. Note: The insert is Sumitomo brand. M BENRBENSZELRETIF . Note: The insert is Sumitomo brand.

* 7IEMEEST * J1EMEEIS Typeo

2T
PF07.12A22.050.04 40 50 22 40 10 PF08.17B27.080.05 60 80 27 50 14
PF07.12A22.063.05 50 63 22 40 10 PF08.17B32.100.06 70 100 32 50 14 B 6 1.8
PF07.12A27.080.06 60 80 27 50 10 PF08.17B40.125.06 80 125 40 63 14 B 6 24
PF07.12B32.100.07 70 100 32 50 10 B 7 1.5 PF08.17B40.160.08 100 160 40 63 14 B 8 4.0
PF07.12B40.125.08 80 125 40 63 10 B 8 25 PF08.17C60.200.10 150 200 60 63 14 C 10 6.5
PF07.12C40.160.10 100 160 40 63 10 C 10 45 PF08.17C60.250.12 180 250 60 63 14 C 12 12.3
PF07.12C60.200.12 150 200 60 63 10 C 12 8.3

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J& | MILLING TOOLS §AMI §nu1 #HI7JE | MILLING TOOLS
IR Keoor Ny o PRUK HETIR  Knoo

PFO9 PF10

* J1EL Mt Spare

J1F Insert 71 K #24T Insert Screw R =F Wrench

* 7) ELE 4 Spare o)

T1R Insert 71 4247 Insert Screw #HF Wrench WNMU080608 LIS 201

R BETNRFSTEEMEESR. Note:Replaceable with Kyocera brand inserts.

XNEX0806 TL60 M4X12 T15T

FH: BEDRBWSELEMRETIF . Note: The insertis SECO brand. * 7N1ERRS

Type E 7 R~F(mm) Dimension Adapter

2

| = 0O

* TEAREST - | oo | oo ] od | K | w | w | T | g
— EZ'KR'\T(mm) N Adapter Tooth PF10.08A22.063.03 63 47 22 40 10.4 8 6.3

2

PF10.08B32.100.05 100 70 32 50 14.4 8 8 B 5 1.3
PF09.08A22.050.05 40 50 22 40 6 A 5

PF10.08B40.125.06 125 80 40 63 16.4 8 9 B 6 25
PF09.08A22.063.06 50 63 22 40 6 A 6 0.5

PF10.08B40.160.08 160 100 40 63 16.4 8 9 B 8 3.8
PF09.08B27.080.07 60 80 27 50 6 B 7 1.0

PF10.08C60.200.10 200 150 60 63 25.7 8 14 C 10 6.0
PF09.08B32.100.08 70 100 32 50 6 B 8 1.8

PF10.08C60.250.12 250 180 60 63 25.7 8 14 C 12 8.4
PF09.08B40.125.11 80 125 40 63 6 B 11 24

PF10.08A22.063.04 63 47 22 40 104 8 6.3 A 4 0.5
PF09.08B40.160.12 100 160 40 63 6 B 12 3.8

PF10.08A27.080.05 80 60 27 50 12.4 8 6.3 A 5 1.0
PF09.08C60.200.16 150 200 60 63 6 C 16 6.2

PF10.08B32.100.07 100 70 32 50 14.4 8 8 B 7 1.3

PF10.08B40.125.08 125 80 40 63 16.4 8 9 B 8 25

PF10.08B40.160.10 160 100 40 63 16.4 8 9 B 10 3.8

PF10.08C60.200.12 200 150 60 63 25.7 8 14 C 12 6.0

PF10.08C60.250.14 250 180 60 63 257 8 14 C 14 8.4

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#%HI7JE | MILLING TOOLS §Aﬂ[ §nuI #HI7JE | MILLING TOOLS

a4Ef7EEHEIJTJE Indexable milling tools Indexable milling tools BJ%E{EEEITIE

* J]E & Matching Insert Eiﬁna Kr:90° ~ G Q M ‘3

HZAR~F(mm) Dimension

IR PF11
< gl1.C

WNMUO8060S8PN-GM @ 8.7 14.02 6.65 0.8
WNMUOS0608EN-GM [ Y NONONGC) OO 8.7 14.02 6.65 6.2 0.8
(e}
a I I 1 [ ] o
P E Omm -m S i e s
M THH OO0 m | e L ~
'K EE B EEEEN ’I ‘ — »
‘ ad | L1
BEtRE L
BHas, Had m i s
“r
B R
® E&EETF Unallocatedstock O FIEFERF Available stock M # 7 R A Main application  [] 3R K. A Extended application

* 71ELHH4 Spare

T1R Insert 71 K 4247 Insert Screw #HF Wrench

-

§ i

XNGU090508PRHDE TL60 M4X10 T20

A BETRS%iMNEA. $$EREA. Note:Replaceable with Zccct/Taegutec brand inserts.

* JJE*E#EZL'-; T

Type EZA R~ (mm) Dimension Adapter| Tooth

o I N I I e 3

PF11.09Z32.032.02 32 32 160 40 9.2 4 2

PF11.09Z232.040.03 40 32 200 40 9.2 4 3 0.4
PF11.09W32.032.02 32 32 110 40 9.2 w 2 0.3
PF11.09W32.040.03 40 32 120 40 9.2 W 3 0.4
PF11.09W32.040.04 40 32 120 40 9.2 W 4 0.5

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#EI7J2 | MILLING TOOLS §AHI
HEEJTIE  xneo

PF11

o€ "o

* 7)ELH4 Spare

T1F Insert 71 i #24T Insert Screw " =F Wrench

o

ik

XNGU090508PRHDE TL60 M4X10 T20

M BMENKSH%iMNeEAE. $E=EA . Note:Replaceable with Zccct/Taegutec brand inserts.

* J1EHMEES Typec

e EZARSF(mm) Dimension

] =
_ T R T BT
40 50 22 40 9.2

Tooth
HH

PF11.09A22.050.05 A 5

PF11.09A22.063.06 50 63 22 40 9.2 A 6 0.51
PF11.09A27.080.07 60 80 27 50 9.2 A 7 1.05
PF11.09B32.100.08 70 100 32 50 9.2 B 8 1.82
PF11.09B40.125.11 80 125 40 63 9.2 B 11 3.09
PF11.09B40.160.12 100 160 40 63 9.2 B 12 4.27

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AHI $tHI7JE | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

% J]E %R Matching Insert

8= Type

XNGUO90508PRHDE-M @ 13.05 6.74 2.0 0.8 9.2

M THR O m °

n ek O :
HesE

MAAE. %hES |

t

,,,,,,,,,,,,,,, _

ERER R
@ E&FETF Unallocatedstock O FJ#EETF Available stock B #7F R A Main application  [] #AFE R A Extended application

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




“E8I7JE | MILLING TOOLS §AHI §AHI “:#I7JE | MILLING TOOLS

E# TR CCOVOeP oD 718 CCOVOP oo

RFO01 RFO01

* J1EBLHiF Spare * 71E K4 Spare

o e B P T

RCKT10T3MO-DM TL60 M4X10 T15 RCKT1204MO-DR TL60 M3.5X10 T15
RCKT1204MO-DR TL60 M3.5X10 T15 RCKT1606MO-DR TL60 M5X12 T20
EH: BETDRFEWUSERMEAREIIF . Note: The insert is Zcect brand. RCKT2006MO-DR TL60 M6X16 T25T

FH: BENRBWSEKRMNSEARMIIF.  Note: Theinsertis Zccct brand.

* 71B RIS Type of * NNEEEST

Type EAR(mm) Dpimension Adapter Type EZAR~F(mm) Dimension Selalpiiels

] = *%D % ] = *&D
— oo | Ll v e R _ || oo | od | H | oo | @ k=
5 25 20 100 30 5 6 63 22 50 50 6

RF01.10W20.025.02 s 2 0.2 RF01.12A22.063.04

RF01.10W25.032.02 5 32 25 120 35 5 W 2 0.5 RF01.16B27.080.05 8 80 27 50 60 8 B 5 0.7

RF01.12W32.040.03 6 40 32 120 40 6 W 3 0.7 RF01.16B32.100.06 8 100 32 50 70 8 B 6 1.2

RF01.12W32.050.03 6 50 32 120 40 6 W 3 0.8 RF01.20B40.125.07 10 125 40 63 80 10 B 7 22
RF01.20B40.160.08 10 160 40 63 100 10 B 8 4.2

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#EI7J2 | MILLING TOOLS §AHI

mek7IR CECONVOP oD

RF02

L1

2D
@d

|t

* 71 B M4 Spare

J1F Insert 71 #2847 Insert Screw | =F Wrench
RDKWO0803MO TL60 M3X7 T10
RDKW10T3MO TL60 M4X10 T15
RDKW1204MO TL60 M4X10 T15

i BETDREWNSERMNEEARMII . Note: The insert is Zccct brand.

* 71B#iEEIS Type of

Type HZAR~T(mm) Dimension

s R aD ad L L1 ap
RF02.08W16.016.02 4 16 16 100 25 4 2 0.1
RF02.08W25.025.02 4 25 25 100 30 4 2 0.3
RF02.10W32.032.02 5 32 32 120 40 5 2 0.7
RF02.12W32.040.03 6 40 32 120 40 6 3 0.7
RF02.12W32.050.04 6 50 32 120 40 6 4 0.8

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AHI $tHI7JE | MILLING TOOLS

% 7) CECOVOP OO

RF02

* J1EHiF Spare

T1R Insert 71 K #24T Insert Screw " =F Wrench
RDKW1204MO TL60 M4X10 WD204 T15T
RDKW1605MO TL60 M5X12 WD208 T20T
RDKW2006MO TL60 M6X16 T25T

R BENRBWSEZEKRMEATIF. Note: The insert is Zccct brand.

_ J1EMER-S Type of Mi
Type HZAKRF(mm) Dimension A:;ger E?th

BS i
R @D @d H @D2 ap B

RF02.12A22.050.03 6 50 22 40 40 6 A 3
RF02.12A22.063.04 6 63 22 50 50 6 A 4 05
RF02.16B27.080.05 8 80 27 50 60 8 B 5 1.2
RF02.16B32.100.06 8 100 32 50 70 8 B 6 1.6
RF02.20B40.125.06 10 125 40 63 80 10 B 6 1.9
RF02.20B40.160.07 10 160 40 63 100 10 B 7 3.7

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

EeTIR OO oD LR CCOVOeP oD

RF03

* 71 ELM}¥ Spare * J1ELMiE Spar

T1F Insert J1 i #247 Insert Screw EHR Clamp #HF Wrench J1F Insert T K 24T Insert Screw #=F Wrench
RPMT1204MO TL60 M4X10 WD204 T15T QPMT120440 TL60 M4X10 T15T
RPMT1606MO TL60 M5X12 WD208 T20T

FH: BEDFEWSEERREIIA. Note: The insert is Sumitomo brand.
ER: REJNFEWNSE=ERMIIK . Note: The insert is Mitsubishi brand.

* 71EHERIS Typeo * J1E#&BIE Type of

EAR(mm) Dimension E A R~F(mm) Dimension
RF03.12A22.050.04 6 50 22 40 40 6 A 4 0.4 RF04.12A22.050.04 40 50 22 40 A 4 0.2
RP12  RF03.12A22.063.05 6 63 22 45 50 6 A 5 0.7 RF04.12A22.050.05 40 50 22 40 A 5 0.2
RF03.12B27.080.06 6 80 27 50 60 6 B 6 12 RF04.12A22.063.05 50 63 22 40 A 5 0.4
RF03.16A22.063.04 8 63 22 50 40 8 A 4 0.7 RF04.12A22.063.06 50 63 22 40 A 6 0.4
RP16  RF03.16A27.080.05 8 80 27 50 60 8 A 5 12 RF04.12A27.080.06 60 80 27 50 A 6 0.9
RF03.16B32.100.06 8 100 32 63 70 8 B 6 16

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
CPOO™ ona0

#eEI17J2 | MILLING TOOLS §AHI
B EEET] kneor (PR XK XN

PEO1

L1

@D
jofe]

ap

* 7] ELH444 Spare * J1ELMHE Spare

TR Insert 71 i #24T Insert Screw R =F Wrench J1F Insert 71 R 4247 Insert Screw #RF wrench

APKT11T3(][] TL60 M2.5X6.5 TO8 APKT11T3[I[] TL60 M2.5X6.5 T08

APKT1604[][] TL60 M4X10 T15 APKT1604[1[] TL60 M4X10 T15

* 71E#HEEIS Type of

=
catogon| Ty Aapter * TAARES
3 S =
8 Category Type EH AR~ (mm) Dimension A:;Eter
12 16 85 25 105 K3

PE01.11216.012.01 2z 1 o ¥S o | od | om | | @ | ea
PE01.11Z16.016.02 16 16 90 25 10.5 z 2 0.1 PEO1.11A22.050.06 50 22 40 40 11
PE01.11220.020.02 20 20 100 30 10.5 z 2 0.2 AP1i  PE01.11A22.063.08 63 22 50 40 11 A 8 0.6
PE01.11225.025.03 25 25 115 35 105 z 3 0.4 PEO1.11A27.080.08 80 27 60 50 11 A 8 1.2
AP11 PE01.11232.032.04 30 32 125 40 105 z 4 07 PE01.11B32.100.10 100 32 70 50 11 B 10 1.7
e = 16 85 o 105 W 1 0.1 PE01.16A22.050.05 50 22 40 40 155 A 5 03
PE01.11W16.016.02 1 16 % o5 10.5 w o 0.1 PE01.16A22.063.06 63 22 50 40 155 A 6 05
PEO01.11W20.020.02 o0 20 100 S 105 w 2 02 AP16  PEO01.16A27.080.07 80 27 60 50 155 A 7 1.1
PE01.11W25.025.03 o5 o5 115 35 105 W 3 04 PE01.16B32.100.08 100 32 70 50 15.5 B 8 1.6
PEO1.11W32.032.04 32 32 125 e 105 W 07 PE01.16B40.125.10 125 40 80 63 155 B 10 3.2
PE01.16225.025.02 25 25 115 35 15.5 z 2 04 PEO1.16B40.160.10 160 40 100 63 15.5 B 10 6.3
PE01.16232.032.03 32 32 125 40 15.5 z 3 07
EH: METRFEWNSEHRMNESARIETIF . Note: The Insert Is Zccct brand.
AP16  PE01.16232.040.04 40 32 130 42 15.5 z 4 0.8
PE01.16W25.025.02 25 25 115 35 15.5 w 2 0.4
PEO1.16W32.032.03 32 32 125 40 15.5 w 3 07
PEO1.16W32.040.04 40 32 130 42 155 w 4 0.8

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

7 EET] ke CPOOPoOnoO

PEO2

Ll
op

@D
@d

* 7JELHi¥ Spare

TIF Insert 71 %247 Insert Screw #R=F Wrench

]

';i-%l -\?_'c‘-‘l_'_..

§AUI #HI7J2 | MILLING TOOLS

HREHT] Koo CPOOPovoD

PEO2

* 71ELH4 Spare

71F Insert T1 K %257 Insert Screw #HF Wrench

i o

APKT11T3[I[ TL60 M2.5X6.5 T08

B BETDRBEWNSERNEARMIIF Note: The insertis Zccct brand.

* J1E MRS Type of

Type BAR(mm) Dimension D

= 0
_ I T T I R
20 20 120 45 29

PE02.11W20.020.01 w 1 0.3
PE02.11W25.025.02 25 25 130 55 39 w 2 0.4
PE02.11W32.032.02 32 32 140 65 48 w 2 0.7
PE02.11W32.040.02 40 32 150 75 55 W 2 1.3

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

APKT11T3[] TL60 M2.5X6.5 TO8

E: BETRBENSEHRMNESSASRETIF . Note: The insert is Zccct brand.

* 7B #1EBIS Type of M

Type EHZARSF(mm) Dimension

=]
- oo | od | ooz [ | @ |
50 22 40 58 39

PE02.11A22.050.04

PE02.11A27.063.04 63 27 50 58 39 A 4 0.9
PE02.11B32.080.05 80 32 60 63 39 B 5 1.3
PE02.11B40.100.06 100 40 70 63 39 B 6 2.0

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

FAIRTIE weee CPOOPONO TIRTIR weeo CPOOPoON0O

PEO3 PEO4

Ll

@D

()]

op

* 71 EHi¥ Spare * 71ELMHE Spare

TR Insert 71 i #24T Insert Screw iR F Wrench J1F Insert 71 42457 Insert Screw " F Wrench
APMT113504PDER TL60 M2.5X6.5 T08 LDOILI15040000 TL6O M3.5X12 BE
APMT160408PDER TL60 M4X10 T15

EH: METRBWSEHRANXNGRIEIIF . Note: The insert is Ceratizit brand.
R BETREWNSEHKRMESARETIF, Note: The insertis Zccct brand.

* 71E RS Type of mi * 7B #1#%ES Type of

EART(mm) Dpimension HZAR~F(mm) Dimension

AP11 PE03.11W25.025 25 25 130 40 20 w 3 0.5 PE04.15A16.040.04 35 40 16 40 13 A 4 0.3
AP16 PE03.16W32.032 32 32 140 50 30 w 3 0.8 PE04.15A22.050.05 40 50 22 40 13 A 5 0.5
PE03.16W32.040 40 32 150 50 30 w 3 1.0 PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15B27.080.07 60 80 27 50 13 B 7 1.7

PE04.15B32.100.08 70 100 32 50 13 B 8 1.7

PE04.15B40.125.10 80 125 40 63 13 B 10 2.6

PE04.15B40.160.12 100 160 40 63 13 B 12 35

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

BETIE Keso CPOOP ond

PEOS

Ll

o,

@D
[.3-]

* 71 ELM¥ Spare

T1F Insert T1 4247 Insert Screw R =F Wrench

p‘j o
=

§AUI #HI7J2 | MILLING TOOLS

HIRTIR Keoo COPOODP ovo

PEOS

* 71ELHF Spa

T1H Insert 71 K %247 Insert Screw " F Wrench

B

APKT1705PER TL60 M4X10 T15

A BETNRZWNSEZEBERRMIIAF. Note: The insert is Taegutec brand.

* JJEiﬂ#Eia- Type of

Type HZA R~ (mm) Dimension Adapter| Tooth

PE05.17W25.025.02 25 25 100 35 14 W 2 0.3
PE05.17Z25.025.02 25 25 200 45 14 z 2 0.5
PE05.17W32.032.03 32 32 110 40 14 W 3 1.2
PE05.17Z32.032.03 32 32 200 45 14 z 3 1.8
PE05.17W32.040.04 40 32 115 45 14 W 4 24
PE05.17Z32.040.04 40 32 250 45 14 z 4 3.2

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

APKT1705PER TL60 M4X10 T15

EH: BETNRZWUSERHERTMEIIR. Note: The insertis Taegutec brand.

* J1EHHEES Type of

Type EHZAR~F(mm) Dimension Adapter

= 0

1

_ Lo | o0 | e | v ]| & ] =
35 40 16 40 14

PE05.17A16.040.04 A 4 0.3
PEO05.17A22.050.05 40 50 22 40 14 A 5 0.4
PE05.17A22.063.06 50 63 22 40 14 A 6 0.5
PEO05.17A27.080.07 60 80 27 50 14 A 7 1.3
PE05.17B32.100.08 70 100 32 50 14 B 8 1.5
PEO05.17B40.125.09 80 125 40 63 14 B 9 3.9
PE05.17C40.160.10 100 160 40 63 14 C 10 5.6
PE05.17C60.200.12 150 200 60 63 14 C 12 7.0

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

RIS e CPO®PonoO BIRTIR v CPOOIon0D

PEOG6 PEOG6

P D a
. 0
y
T i
y ] H
@ d
@ D2

* 7 ELMi4 Spare

T1H Insert T1 24T Insert Screw #R=F Wrench
&l &
* 71 B M4 Spar
AXMT1235[JJPEER TL60 M3X7 TO8

AXMT1705J[JPEER TL60 M4X10 T15

FH: BENRBWSZEERARBEIIF . Note: The insert is Sumitomo brand.

= AXMT1235[][JPEER TL60 M3X7 TO8
* 71B#H#EAIS Type of

TR Insert 71 K #24T Insert Screw " F wrench

AXMT1705JCJPEER TL60 M4X10 T15

FH: BENRBWSZEERAMRERIIA . Note: The insert is Sumitomo brand.

PE06.12Z16.016.02.S 16 16 100 25 10 4 2 0.3

™ o
PE06.12Z16.016.02.M 16 16 145 25 10 z 2 0.5 * JIEHHEES Type of Milling

PE06.12220.020.03.S 20 20 110 30 10 z 3 0.6 Type A;éalgter
rxq, PE08.12225.025.04. 25 25 120 35 10 z 4 1.0 PE06.12A16.040.06 40 16 35 40 10
PE06.12225.025.04.M 25 25 170 50 10 z 4 15 AX12  PE06.12A22.050.07 50 2P 40 40 10 A 7 0.3
PE06.12232.032.05.S 32 32 130 40 10 z 5 2.0 PE06.12A22.063.08 63 22 50 40 10 A 8 0.5
PE06.12232.032.05.M 32 32 180 60 10 z 5 2.4 PE06.17A16.040.04 40 16 35 40 14 A 4 0.3
PE06.12232.040.06.S 40 32 150 30 10 z 6 25 PE06.17A22.050.05 50 22 40 40 14 A 5 0.3
PE06.12232.040.06.M 40 32 180 30 10 z 6 32 AX17  PE06.17A22.063.06 63 22 50 40 14 A 6 0.5
PE06.17225.025.02.S 25 25 120 35 14 z 2 1.0 PE06.17A27.080.07 80 27 60 50 14 A 7 17
PE06.17225.025.02.M 25 25 170 50 14 z 2 15 PE06.17B32.100.08 100 32 70 50 14 B 8 3.2
AX17  PE06.17232.032.03.S 32 32 130 40 14 z 3 2.0 PE06.17B40.125.09 125 40 80 63 14 B 9 6.3
PE06.17232.032.03.M 32 32 180 60 14 z 3 24
PE06.17232.040.04.S 40 32 170 50 14 z 4 25
PE06.17232.040.04.M 40 32 220

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

FIRTIS weee CPOQBPOn0oD RTIR e CPOOIonoD

PEOQO7 PEO8

Ll

@D
foXe]

ap

* 7] ELKi{¥F Spar * 71K Spa

T1F Insert 71 K %247 Insert Screw | F Wrench T1H Insert 71 K 4247 Insert Screw #F Wrench
APMT1035[]JPDER TL60 M2.5X6.5 To8 ADMTO080304R TL60 M2.5X6.5 TO8
APMT1605[]JPDER TL60 M3.5X10 T15 ADMT120408R TL60 M3X8 T10

EH: RETREWSHEERMETIF . Note: The insert is Sumitomo brand. EH: RETREWSER/RFEMTIF o Note: The insert is Walter brand.

Adapter
B0

Dimension

* 71E#ERIS Type of * J1E&BIE Type of Milli

i

PE07.10Z20.020.03.S 20 20 130 35 17 z 1 0.3 PE08.08W16.016.02 16 16 90 34 8 w 2 0.1
PE07.10Z20.020.03.M 20 20 185 60 17 z 1 0.5 PE08.08W20.020.03 20 20 20 39 8 W 3 0.2

AP10  PE07.10Z25.025.04.S 25 25 140 40 26 z 1 1.2 ADOS PE08.08W25.025.04 25 25 100 43 8 w 4 0.3
PE07.10Z25.025.04.M 25 25 220 75 26 z 1 1.8 PE08.08W32.032.05 32 32 110 49 8 w 5 0.6
PE07.10Z25.030.04.S 30 25 150 50 35 z 1 2.4 PE08.08W32.040.06 40 32 110 40 8 W 6 0.7
PE07.10Z25.030.04.M 30 25 230 50 35 z 1 32 PE08.08216.016.02 16 16 180 34 8 z 2 0.3
PE07.16Z32.032.04.S 32 32 150 50 39 z 1 0.3 PE08.08220.020.02 20 20 200 39 8 z 2 05
PE07.16Z32.032.04.M 32 32 230 90 39 z 1 0.5 PE08.08225.025.03 25 25 200 43 8 z 3 0.7
AP16  PE07.16232.035.04.S 35 32 150 50 39 z 1 1.2 PE08.12W25.025.03 25 25 100 43 11.5 w 3 0.35
PE07.16232.035.04.M 35 32 230 50 39 z 1 1.8 PE08.12W32.032.04 32 32 110 49 11.5 w 4 0.6
PE07.16232.040.04.S 40 32 160 50 39 z 1 2.4 AD12 PE08.12W32.040.05 40 32 110 40 115 w 5 0.7
PE07.16Z232.040.04.M 40 32 240 50 39 v 1 3.2 PE08.12Z25.025.03 25 25 200 43 11.5 4 3 0.7
PE08.12232.032.04 32 32 250 49 11.5 z 4 1.5

PE08.12232.040.05 40 32 250 45 115 z 5 1.6

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

TIIETIR oo CQPOQ PO

PEOS8

* J1ELKH4 Spar

§AUI #HI7J2 | MILLING TOOLS

BIRTIR Koo CPOO©PONAD

PEO9

* 71E K Spa

1R Insert T1 K 4247 Insert Screw % F Wrench
ADMT080304R TL60 M2.5X6.5 To8
ADMT120408R TL60 M3X8 10
ADMT160608R TL60 M4X10 T15

EHH: RETHRBWNSERMRYIIRF. Note: The insert is Walter brand.

* TNE MBS Type of milling

Type EZAR~F(mm) Dimension Adapter

S 0O
40 16 35 40 8

PE08.08A16.040.06

ADO8
PE08.08A22.050.07 50 22 40 40 8 A 7 0.38
PE08.12A16.040.05 40 16 35 40 11.5 A 5 0.2
PE08.12A22.050.06 50 22 40 40 11.5 A 6 0.3

AD12 PE08.12A22.063.07 63 22 50 40 11.5 A 7 0.6
PE08.12A27.080.08 80 27 60 50 11.5 A 8 1.1
PE08.16A16.040.04 40 16 35 40 15 A 4 0.2
PE08.16A22.050.05 50 22 40 40 15 A 5 0.3

AD16 PE08.16A22.063.06 63 22 50 40 15 A 6 0.6
PE08.16A27.080.07 80 27 60 50 15 A 7 1.0
PE08.16B32.100.08 100 32 70 50 15 B 8 1.6
PE08.16B40.125.10 125 40 80 63 15 B 10 3.4
PE08.16C40.160.12 160 40 100 63 15 C 12 4.3

THRAKCEFE RSB X #EEZEMNEwww.hnsant.com

J1 R Insert 71 K #24T7 Insert Screw " =F Wrench
R390-11T3[J[] TL60 M2.5X6.5 To8
R390-1704[] TL60 M3.5X10 T15

FH: BENREZWSELHET R, Note: The insert is Sandvik brand.

* J1EMiEAES Type of M

Type HZA R~ (mm) Dimension Adapter

= #0
e oo | e | L | 0 | w | gx
16 16 100 20 10

PE09.11Z16.016.02 z 2 03
PE09.11220.020.02 20 20 110 25 10 z 2 0.4
PE09.11225.025.03 25 25 120 32 10 z 3 05
PE09.11232.032.03 32 32 130 40 10 z 3 0.8

" PE09.11232.040.04 40 32 170 40 10 z 4 1.7
PE09.11W16.016.02 16 16 73 25 10 w 2 03
PE09.11W20.020.02 20 20 81 25 10 w 2 0.4
PE09.11W25.025.03 25 25 88 32 10 W 3 05
PE09.11W32.032.03 32 32 100 40 10 w 3 0.8
PE09.11W32.040.04 40 32 110 40 10 w 4 17
PE09.17225.025.02 25 25 120 32 15.7 z 2 0.4
PE09.17232.032.03 32 32 130 40 157 z 3 0.8

17 PE09.17232.040.04 40 32 170 40 15.7 z 4 0.9
PE09.17W25.025.02 25 25 88 32 15.7 W 2 0.4
PE09.17W32.032.03 32 32 100 40 15.7 w 3 0.8
PE09.17W32.040.04 40 32 110 40 15.7 W 4 0.9

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

FIRTIR weoe CPOOPONOD KRR reeo CPOOIonoO

PEO9 PE10

L1

@D
@d

ap

* J1EHHF Spare * 71 B4 Spare

J1 K Insert 71 5 4247 Insert Screw 7 =F Wrench T1 K Insert 71 K 8247 Insert Screw #F Wrench

.

-

R390-11T30 TL60 M2.5X6.5 TO8 BDMT11T3CIER TL60 M2.5X6.5 TO8
R390-1704[] TL60 M3.5X10 T15 BDMT1704JJER TL60 M4X10 T15
EH: BETRBWNSE LSERREIIF . Note:The insert is Sandvik brand. ER: REJNFEWNSERERMIIA . Note:The insert is Kyocera brand.

* 71E#EBIS Type of * 71EMBES

HZARF(mm) Dimension Adapter ' HAR~H(mm) Dimension Adapter
0 % 0
B2 i
PE09.11A16.040.04 40 16 35 40 10 A 4 0.4 PE10.11Z16.016.02 16 16 100 30 10 4 2 0.2
» PE09.11A22.050.05 50 22 40 40 10 A 5 0.5 11 PE10.11Z20.020.03 20 20 110 32 10 4 3 0.3
PE09.11A22.063.06 63 22 50 40 10 A 6 0.6 PE10.11Z25.025.03 25 25 120 32 10 4 3 0.3
PE09.11A27.080.07 80 27 60 50 10 A 7 0.9 PE10.11Z32.032.04 32 32 130 40 10 4 4 0.4
PE09.17A16.040.03 40 16 35 40 15.7 A 3 0.3 PE10.17Z25.025.02 25 25 120 36 15.7 z 2 0.3
PE09.17A22.050.04 50 22 40 40 15.7 A 4 0.4 i PE10.17Z32.032.03 32 32 130 40 15.7 4 3 0.4
17 PE09.17A22.063.05 63 22 50 40 15.7 A 5 0.6 PE10.17Z32.040.04 40 32 150 40 15.7 4 4 0.5
PE09.17A27.080.06 80 27 60 50 15.7 A 6 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 1.0
PE09.17B40.125.08 125 40 80 63 156.7 B 8 2.7

| SANT

——h

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

FIRTIR weee CPOQPon0D TTRTIR K CPOOIBonoD

PE10 PE11

* 71 B HHE spare * 71 B4+ Spare

J1H Insert 71 5 24T Insert Screw #F Wrench TIE Insert 71 - #84T Insert Screw 5 F Wrench

-

BDMT11T3[JCJER TL60 M2.5X6.5 TO8 APKT100304PDER TL60 M2.5X6.5 TO8
BDMT1704LJLJER TL60 M4X10 T15 EH: BENREWSEANERMIE, Note:Theinsertis Iscar brand.
FHE: BETDNHFEWSEZETEMMIIF . Note:The insert is Kyocera brand.

* 71E MBI Type of Millin * 7NEMEES T

Type EZIKRTJ'(mm) Dimension Adapter

| = #0
% [ oo [ oo [ ez [ n [ » | g
50 22 40 40 10

HZAR~T(mm) Dimension

PE10.11A22.050.07 PE11.10A16.040.05 40 16 35 40 8 A 5 0.2
11 PE10.11A22.063.08 63 22 50 40 10 PE11.10A22.050.06 50 22 40 40 8 A 6 03

PE10.11A27.080.10 80 27 60 50 10 AP10  pE11.10A22.063.07 63 22 50 40 8 A 7 0.6

PE10.17A22.050.05 50 22 40 40 15.7 PE11.10A27.080.08 80 27 60 50 8 A 8 1.1
. PE10.17A22.063.06 63 20 50 40 15.7 PE11.10B32.100.10 100 32 70 50 8 B 10 16

PE10.17A27.080.08 80 27 60 50 15.7

PE10.17B32.100.09 100 32 70 50 15.7 B 9 15

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

HRTIEL ke € @ om0 BT ke € @ om0

PE12 PE14

@D N
o]
I
@ d
@ D2
* 71ELHi4 Spare * 71EL K4 Spare

J1 K Insert 71 K 5247 Insert Screw #F Wrench

A

J1 K Insert 71 K 5247 Insert Screw #F Wrench

-

LN[IX151008PNR TL60 M4X10 T15T AXMT11T308 TL60M2.5X6.5 TO8

FH: BENRBWSEREHRMEIIAE, Note:Theinsertis Korloy brand. E: BETDRSHKMEA. WHEM. Note:Replaceable with Zccct/Sandvik brand inserts.

* 71EMEBIS Type of Mil * 71EMEBIS Type of Mil

Type EARR~H(mm) Dimension Af;ger Type EZAR~F(mm) Dimension Adapter
_ oo | oo | oo | k| @ | g2 =15 oo [ oo [ [ [ |
PE12.15A22.050.04 50 22 40 40 14 A PE14.11216.016.02 16 16 100 20 10 z 2 0.3
PE12.15A22.063.06 63 22 50 40 14 A 6 0.6 PE14.11220.020.02 20 20 110 25 10 z 2 0.4
PE12.15A27.080.07 80 27 60 50 14 A 7 1.2 PE14.11225.025.03 25 25 120 32 10 z 3 0.5
PE12.15B32.100.8 100 32 70 50 14 B 8 2.4 PE14.11232.032.03 32 32 130 40 10 z 3 0.8
PE12.15B40.125.10 125 40 80 63 14 B 10 3.8 PE14.11232.040.04 0 32 170 0 10 2 4 17
PE12.15B40.160.12 160 40 100 63 14 B 12 4.6 PE14.11W16.016.02 16 16 73 25 10 - - 0.3
PE14.11W20.020.02 20 20 81 25 10 w 2 0.4
PE14.11W25.025.03 25 25 88 32 10 w 3 0.5
PE14.11W32.032.03 32 32 100 40 10 w 3 0.8
PE14.11W32.040.04 40 32 110 40 10 w 4 1.7

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com

2 | SANT



#tEI7J2 | MILLING TOOLS §AUI

HIETIE Kesor € @ovoo

PE14

* 71E K Spare

71 F 44T Insert Screw #F Wrench

AXMT11T308 TL60M2.5X6.5 TO8

F: BEDRSH%HiNEEA. WEFEA . Note:Replaceable with Zccct/Sandvik brand inserts.

* 71E#EBS Type of Mil

Type EHZA R~ (mm) Dimension A?dialgter

5 on T [ e | n [ & ] ks
PE14.11A22.050.06 40 50 22 40 10 A 6 0.5
PE14..11A22.063.08 50 63 22 40 10 A 8 0.6
PE14..11A27.080.09 60 80 27 50 10 A 9 0.9
PE14..11B32.100.10 70 100 32 50 10 B 10 1.0

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AMI #HI7J2 | MILLING TOOLS

Indexable milling tools BIEE{7EkEITIE

* J]Fi%#E Matching Insert

E & R~F(mm) Dimension
El= Type

WOleds

AXMT11T308-GM

AXMT170408-PM

P L O

M TEH oo

]
EEEO
(@)

H O

2

[e)]

a1c
feER

HHEE. KEE
ERE AL

]
-

® E&FETF Unallocatedstock O FIEHEETE Available stock B # % A Main application  [] #Rf& R Fl Extended application

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

VE 2 ) € @ ovo il € @ oo
RBO1 RB02

L1

@D
[oe]

ap

* 7JELHiE Spa * 718 M4 Spa

J1H Insert J1 5 Insert 71 5 #8247 Insert Screw #RF Wrench J1 5 Insert 71 K #8247 Insert Screw | F Wrench
O | - .
ZDET08T2CYR10 SPMT060304 TL60 M2.5X5 TO8 XPHT16R803 TL60 M2.5X6 TO8
ZDET1103CYR12.5 SPMT060304 TL60 M2.5X5 TO8 XPHT20R10T3 TL60M3.5X8 T15
ZDET13T3CYR16 SDMT090308 TI60 M3.5X10 T15 XPHT25R1204 TL60 M4X10 T15
ZPNT2204CYR20 SPMT120408 TL60 M5X13 T20 XPHT30R1506 WD208 TL60 M5X12 T20
FH: BETDRBEWUSEKRIMNSEAREIIF . Note:The insert is Zccct brand. XPHT32R1606 WD208 TL60 M5X12 T20
FH: BETNARBWNSEHRMNEAREIIF . Note:The insert is Zccct brand.
* 71E#RES

W EHZARSF(mm) Dimension

L * 71EMEBIS Type o
= oo | od | L | u | @ |
20 20 125 50 20

ZAR~F(mm) Dimension Adapter

RB01.20W20.020.S w 4 0.3 #0
ER

RB01.20W20.020.M 20 20 150 75 20 w 4 0.3

RB02.16W20.016.S 16 20 111 60 16 W 2 0.2
RB01.20W20.020.L 20 20 200 100 20 w 4 0.4

RB02.20W25.020.S 20 25 127 70 20 W 2 0.3
RB01.25W25.025.S 25 25 150 70 23 w 4 0.5

RB02.20W25.020.M 20 25 150 80 20 W 2 0.4
RB01.25W25.025.M 25 25 175 95 23 w 4 0.6

RB02.25W25.025.S 25 25 137 80 25 w 2 0.4
RBO1.25W25.025.L 25 25 200 100 23 w 4 0.7

RB02.25W25.025.M 25 25 200 100 25 w 2 0.6
RB01.32W32.032.S 32 32 175 85 31 w 4 0.9

RB02.30W32.030.S 30 32 161 100 30 w 2 0.8
RB01.32W32.032.M 32 32 200 100 31 w 4 1.1

RB02.30W32.030.M 30 32 250 150 30 w 2 1.3
RB01.32W32.032.L 32 32 250 150 31 w 4 1.4

RB02.32W32.032.S 32 32 161 100 32 W 2 0.8
RB01.40W32.040.S 40 32 175 50 41 w 5 1.4

RB02.32W32.032.M 32 32 250 120 32 w 2 1.3
RB01.40W32.040.M 40 32 200 50 41 w 5 1.7
RB01.40W32.040.L 40 32 250 50 41 w 5 21

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

DT84 7] € @ ono b3 £ 7] € @ ovo
RB02 RB02

L
L1
QI 0 i = MT
) S} Ll
V
ap {
)
op
* 7JELMH¥ Spa

T K Insert FE#R Clamp T1 K 4247 Insert Screw % F Wrench

&

* 1AM spa

XPHT16R803 TL60 M2.5X6.5 T08
J1F Insert ER clamp 71 K 8247 Insert Screw #F Wrench
XPHT20R10T3 TL60M3.5X8 T15 _.
@
XPHT25R1204 TL60 M4X10 T15
CPHT30R1506 WD208 TL60 M5X12 20 XPHT16R803 TL60 M2.5X6.5 T08
XPHT32R1606 WD208 TL60 M5X12 T20 XPHT20R10TS TLEOM3.5X8 s

XPHT25R1204 TL60 M4X10 T15

EH: BETDREWNSERIMNEEARIMI Ao Note:The insert is Zccct brand.

- XPHT30R1506 WD208 TL60 M5X12 T20
* 71EMBRST

EHZARSF(mm) Dimension

XPHT32R1606 WD208 TL60 M5X12 T20

FHH: RETFEWSERMNEEAREIIF .  Note:The insert is Zccet brand.

RB02.16220.016.S 16 20 150 70 16 z 2 0.3
RB02.16220.016.M 16 20 180 80 16 z 2 0.4
RB02.20Z25.020.S 20 25 180 80 20 z 2 0.5 EZAR~F(mm) Dimension Weight
RB02.20225.020.M 20 25 200 100 20 z 2 0.6 % Ei (ko)
RB02.20Z25.020.L 20 25 250 150 20 z 2 0.7 RB02.20MT3.020.M 20 3 156 70 20 2 0.4
RB02.25225.025.S 25 25 180 80 25 z 2 0.6 RB02.20MT3.020.L 20 3 186 100 20 2 0.4
RB02.25225.025.M 25 25 200 100 25 z 2 0.7 RB02.25MT3.025.M 25 3 156 70 25 2 0.4
RB02.25225.025.L 25 25 250 110 25 z 2 0.8 RB02.25MT3.025.L 25 3 186 100 25 2 0.4
RB02.30232.030.S 30 32 200 120 30 z 2 1.0 RB02.30MT4.030.M 30 4 189 70 30 2 0.8
RB02.30232.030.M 30 32 250 150 30 z 2 1.3 RB02.30MT4.030.L 30 4 229 120 30 2 1.0
RB02.30232.030.L 30 32 300 200 30 z 2 1.6 RB02.32MT4.032.M 32 4 179 70 32 2 0.9
RB02.32232.032.S 32 32 200 120 32 z 2 1.1 RB02.32MT4.032.L 32 4 209 100 32 2 0.9

g RB02.32Z32.032.M 32 32 250 150 32 z 2 1.4

E. RB02.32232.032.L 32 32 300 200 32 z 2 1.6

189

THREKEFBREHBE K ¥I151EZMiwww.hnsant.com THREGERFBEREHE] X ¥E1EEMMIEwww.hnsant.com



SANT
“w @ © ovo

#tEI7J2 | MILLING TOOLS

i35 )

#H = 7 A

k)

YtEI7J2 | MILLING TOOLS

Indexable milling tools BIEE{7EkEITIE
-y o @ © omo

RBO3

E A R~F(mm) Dimension

L
Ll
RB03.25225.025.M 25 25 200 70 12.5 z 1 07
g g ¢25 RB03.25225.025.L 25 25 250 100 12.5 z 1 0.9
& RB03.25232.025.M 25 32 200 90 12.5 z 1 1.0
RB03.25232.025.L 25 32 250 110 125 z 1 1.3
RB03.30232.030.M 30 32 250 80 15 z 1 1.2
¢30 RB03.30Z32.030.L 30 32 300 110 15 z 1 1.5
Diameter J1F Insert 71 K 4247 Insert Screw #F Wrench 032 RB03.32232.032.M 32 32 250 80 16 z 1 14
B S : RB03.32232.032.L 32 32 300 110 16 z 1 1.7
¢12 ZOHX1203 170 M4X10TT T15
¢16 ZOHX1604 170 M5X12TT T20
¢20 ZOHX2005 170 M5X16TT T20
¢25 ZOHX2506 170 M6X20TT T20
¢ 30 ZOHX3007 170 M8X25TT T30S
¢ 32 ZOHX3207 170 M8X25TT T30S

FH: BENFBEWNSZKMNEARMEIIF . Note:The insert is Zccct brand.

* 7NIEMKEES T

Type EHZA& R~ (mm) Dimension Adapter

N
=]
2% | oo | o0 | L | u | A | gx
12 12 125 35 6

RB03.12Z12.012.M z
c12 RB03.12Z12.012.L 12 12 150 45 6 z 1 0.1
RB03.12Z16.012.M 12 16 125 50 6 z 1 0.2
RB03.12Z16.012.L 12 16 150 70 6 z 1 0.2
RB03.16Z16.016.M 16 16 150 40 8 z 1 0.2
¢16 RB03.16Z16.016.L 16 16 180 55 8 z 1 0.3
RB03.16Z20.016.M 16 20 150 60 8 z 1 0.3
RB03.16Z20.016.L 16 20 180 80 8 z 1 0.3
RB03.20Z20.020.M 20 20 180 65 10 Z 1 0.4
20 RB03.20Z20.020.L 20 20 250 100 10 Z 1 0.6
‘ RB03.20Z25.020.M 20 25 180 75 10 z 1 0.6
RB03.20Z25.020.L 20 25 200 95 10 z 1 0.8

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

ihfctkJl “w € @ ono ZHENNBAENE P OvWd
RB04 PTO1

Ll

op

* 71 ELMi4 Spare * 7JJELMH4 Spare

71R Insert T1h Insert 71 84T Insert Screw i F Wrench 1K Insert 71 R #2%T Insert Screw R F Wrench

ZNMT1804100-C ZNMT2004100-S TL60 M3X7 T10 MPHT060304-DM TL60M2.5X6.5 To8

ZNMT2205125-C ZNMT2305125-S TL60 M4X10 T15 MPHT080305-DM TLE60M3X7 T10

ZNMT2706150-C ZNMT2806150-S TL60 M4X10/TL60M5X12 T15/T20 MPHT120408-DM TL60M5X11 T20
EM: BETNREWSEERRIEIIFA . Note:The insert is Sumitomo brand. R BE 7R 58 M TE A . Note:Replaceable with Zccct brand inserts.

* 71E RS Typ * 71E#MEES Type of Mill

#25 R~F(mm) Dimension Adapter HZAR~F(mm) Dimension

=0 wH | EE(k)

RB04.20Z25.020.S 20 25 140 60 20 z 2 0.3 PT01.06W25.021.01.H9

RB04.20Z25.020.M 20 25 200 60 20 z 2 0.5 PT01.06W25.025.01.H11 25 25 12 100 35 11 1 0.3
RB04.20Z25.020.L 20 25 250 80 20 z 2 0.7 PT01.08W32.032.02.H14 32 32 15 110 45 14 2 0.5
RB04.25Z32.025.S 25 32 150 70 23 z 2 0.6 PT01.12W32.040.02.H18 40 32 19 125 55 18 2 0.7
RB04.25Z32.025.M 25 32 220 75 23 z 2 0.8 PT01.12W40.050.02.H22 50 40 25 140 65 22 2 1.2
RB04.25Z32.025.L 25 32 300 100 23 z 2 1.0

RB04.30Z32.030.S 30 32 160 80 28 z 2 0.9

RB04.30Z32.030.M 30 32 240 85 28 z 2 1.2

RB04.30Z32.030.L 30 32 350 120 28 z 2 1.8

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
=ENNSE A P OmQ

PTO1

* 71ELMi¥ Spa

J1 5 Insert 71 #8247 Insert Screw #F Wrench

L

i

MPHT060304-DM TL60 M2.5X6.5 TO8T
MPHT080305-DM TL60M3X7 T10T
MPHT120408-DM TL60 M5X11 T20T

B BEEJIH S ME5HE A . Note:Replaceable with Zcect brand inserts.

* 71E MBS Type of M

EHZARSF(mm) Dimension

PT01.06J27.080.10.H8 80 41 27 12 8 10 0.2
PT01.06J32.100.14.H8 100 47 32 12 8 14 0.3
MP06
PT01.06J32.100.14.H10 100 47 32 14 10 14 04
PT01.06J40.125.16.H10 125 55 40 14 10 16 0.6
PT01.08J40.125.12.H12 125 55 40 16 12 12 0.7
MPO08
PT01.08J40.160.14.H12 160 62 40 16 12 14 1.3
PT01.12J40.160.12.H16 160 62 40 20 16 12 1.6
PT01.12J40.160.12.H18 160 62 40 24 18 12 1.9
MP12  PT01.12J40.160.12.H20 160 62 40 26 20 12 2.1
PT01.12J50.200.14.H16 200 72 50 20 16 14 25
PT01.12J50.200.14.H18 200 72 50 24 18 14 2.9
PT01.12J50.200.14.H20 200 72 50 26 20 14 3.3

THRAKCEFE RSB X #EEZEMNEwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
ZmENNGENA P OnD

PTO1

* 7)ELMH¥ Spar

J1F Insert 71 K 5247 Insert Screw #]F Wrench

i

MPHT060304-DM TL60 M2.5X6.5 TOsT
MPHT080305-DM TL60M3X7 T10T
MPHT120408-DM TL60 M5X10 ToOT

FH: BETIR S MEEAE A . Note:Replaceable with Zccct brand inserts.

* 71E RIS Type of

PT01.06A22.080.10.H8 80 45 22 40 8 21 10 A 0.4
MPO6 PT01.06B27.100.14.H8 100 55 27 40 8 24 14 B 0.6
PT01.06B27.100.14.H10 100 55 27 40 10 24 14 B 0.7
PT01.06B32.125.16.H10 125 65 32 45 10 33 16 B 1.1
PT01.08B32.125.12.H12 125 65 32 45 12 33 12 B 1.4
MPO08 PT01.08B40.160.14.H12 160 80 40 45 12 45 14 B 1.9
PT01.08C40.200.18.H12 200 92 40 50 12 53 18 c 3.2
PT01.12B32.125.10.H16 125 65 32 50 16 30 10 B 23
PT01.12B40.160.12.H16 160 80 40 60 16 45 12 B 2.3
MP12 PT01.12B40.160.12.H18 160 80 40 60 18 45 12 B 2.4
PT01.12C40.200.14.H16 200 92 40 50 16 53 14 C 2.6
PT01.12C40.200.14.H18 200 92 40 50 18 53 14 C 3.9
PT01.12C40.200.14.H20 200 92 40 50 20 53 14 C 4.2

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AUI

AI(UEEHITIR Indexable milling tools

% J]HEi%#% Matching Insert

e cé g é é (g cg % % g % é HZA R~ (mm) Dimension
MPHT060304-DM O @ @ O @) 6.35 6.35 3.18 2.8 0.4
MPHT080305-DM O @ @ @) O 8.3 8.3 3.18 3.4 0.5
MPHT120408-DM O @ © O O 12.7 12.7 4.76 5.56 0.8

P B mn N
M THR Om [ ]
n%% ] u a1.c I oS
BELR m I
Mhas. Had u N
EEREAR
@ E&FETF Unallocatedstock O FJ#EETF Available stock B #7 R A Main application  [] #AFE R A Extended application

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE

PTO02

* 71 K% Spare

J1 5 Insert 71 5 24T Insert Screw W F Wrench

XSEQ1202 191M4X3.2X TOOT
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T5T
XSEQ12T4 191M4X6.3X T15T

EHH: BETIR S AE A . Note:Replaceable with Zccct brand inserts.

* 71E#1#&8IS Type of M

e EHZARSF(mm) Dimension
PT02.12J27.100.10.H4 100 40.7 27 12 4
02 PT02.12440.125.12.H4 125 50.5 40 12 4 12 03
PT02.12J40.160.16.H4 160 66.7 40 12 4 16 05
PT02.12J27.100.10.H5 100 45 27 12 5 10 0.2
%% pr02.12440.125.12.H5 125 58 40 12 5 12 03
PT02.12J40.160.16.H5 160 68 40 12 5 16 0.6
PT02.12J27.100.10.H6 100 45 27 12 6 10 03
PT02.12J40.125.12.H6 125 58 40 12 6 12 0.4
™ pr02.12440.160.16.H6 160 68 40 12 6 16 0.7
PT02.12J50.200.18.H6 200 72 50 12 6 18 14
PT02.12J50.250.24.H6 250 72 50 12 6 24 17

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS
SEANGE A P Owo ZENNHAE DA P OMD

PT02

PT02.12J27.100.10.H7 100 45 27 12 7 10 0.3
PT02.12J40.125.12.H7 125 58 40 12 7 12 0.4
ot PT02.12J40.160.16.H7 160 68 40 12 7 16 0.8
PT02.12J50.200.18.H7 200 72 50 12 7 18 1.2
PT02.12J50.250.24.H7 250 72 50 12 7 24 1.9
PT02.12J27.100.10.H8 100 45 27 12 8 10 0.3
PT02.12J40.125.12.H8 125 58 40 12 8 12 0.5
T4 PT02.12J40.160.16.H8 160 68 40 12 8 16 0.9
PT02.12J50.200.18.H8 200 72 50 12 8 18 1.4 2L b S EChEsE S Wrin o
PT02.12J50.250.24.H8 250 72 50 12 8 24 22 '
XSEQ1202 191M4X3.2X TooT
XSEQ1203 191M4X4.2X 5T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T
XSEQ12T4 191M4X6.3X T15T

R BETIR S MEEAE A . Note:Replaceable with Zccct brand inserts.

* 718 #1#%BIS Type of M

PT02.12A22.063.06.H4 63 32 22 40 4 14 A 6 0.2
0z PT02.12A22.080.08.H4 80 40 22 50 4 18 A 8 0.4
PT02.12A27.100.10.H4 100 48 27 50 4 23 A 10 0.6
PT02.12A22.063.06.H5 63 32 22 40 5 14 A 6 0.2
03 PT02.12A22.080.08.H5 80 40 22 50 5 18 A 8 0.4
PT02.12A27.100.10.H5 100 48 27 50 5 23 A 10 0.7
PT02.12A22.063.06.H6 63 32 22 40 6 14 A 6 0.2
PT02.12A22.080.08.H6 80 40 22 50 6 18 A 8 0.4
Ts PT02.12A27.100.10.H6 100 48 27 50 6 23 A 10 0.7
PT02.12B40.125.12.H6 125 70 40 50 6 30 B 12 1.0
PT02.12B40.160.16.H6 160 70 40 50 6 41 B 16 1.3

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

ZENNEGENE P OmD SENNEAMNA P Owo
PTO3

PT02.12A22.063.06.H7 63 32 22 40 7 14 A 6 0.2
PT02.12A22.080.08.H7 80 40 22 50 7 18 A 8 05 >
04 PT02.12A27.100.10.H7 100 48 27 50 7 23 A 10 07
PT02.12B40.125.12.H7 125 70 40 50 7 27 B 12 14
PT02.12B40.160.16.H7 160 70 40 50 7 41 B 16 14
PT02.12A22.063.06.H8 63 32 22 40 8 14 A 6 0.2
PT02.12A22.080.08.H8 80 40 22 50 8 18 A 8 05
T4  PT02.12A27.100.10.H8 100 48 27 50 8 23 A 10 0.8
PT02.12B40.125.12.H8 125 70 40 50 8 27 B 12 14
PT02.12B40.160.16.H8 160 70 40 50 8 41 B 16 15 22y (s T FIRET Insert Screw S i
il "
X3-084508H TL60M3X8 T10
X3-115008H TL60M4X10 T15
X3-145008H TL60M4X10 T15

FHA: BETI RS W4HE . Note:Replaceable with Sandvik brand inserts.

% JJ] B i#k#® Matching Insert

HZA R~ (mm) Dimension * 718 #1#E8IS Type of M

A1 S Type

EHZA R~ (mm) Dimension

O| O
N
w
w
(o]
=)
XSEQ1202 O O 12.7 2.3 5 12.7 @D H
XSEQ1203 O O 12.7 3 5 12.7 PT03.08J40.125.12.H12 125 55 40 12 16 12 0.72
08
XSEQ12T3 O O 12.7 3.5 5 12.7 PT03.08J40.160.14.H12 160 62 40 12 16 14 1.32
XSEQ1204 O O 12.7 4 5 12.7 PT03.11J40.160.14.H16 160 62 40 16 20 14 1.80
PT03.11J40.160.14.H18 160 62 40 18 24 14 2.10
11
nﬂij H N PT03.11J50.200.16.H16 200 72 50 16 20 16 2.90
M FER Om PT03.11J50.200.16.H18 200 72 50 18 24 16 3.35
n 7373 | PT03.14J50.200.16.H20 200 72 50 20 26 16 3.67
BEERE " PT03.14J50.200.16.H24 200 72 50 24 28 16 4.41
HEE. KES [ | PT03.14J50.250.18.H20 250 72 50 20 26 18 6.12
FRREM R PT03.14J50.250.18.H24 250 72 50 24 28 18 7.38
® E&ETF Unallocatedstock O FI#FETF Available stock M #% N A Main application [ # & R F Extended application

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS
SAENNNSENA

PTO03

H o= 7 A

P OMWD

D1

* J1EHHF Spare

T K Insert 71 K 8247 Insert Screw #F Wrench
X3-084508H TL60M3X8 T10
X3-115008H TL60M4X10 T15
X3-145008H TL60M4X10 T15

ERA: BEJI R 5 WL45E A Note:Replaceable with Sandvik brand inserts.

* 71B#1EBIS Type of Mi

Category Type EZAR~F(mm) pimension Tooth
PT03.08B32.125.12.H12 125 65 32 12 45 12
o PT03.08B40.160.14.H12 160 80 40 12 45 12 B 2.2
PT03.11B40.160.14.H16 160 80 40 16 50 14 B 2.5
PT03.11B40.160.14.H18 160 80 40 18 50 14 B 2.7
B PT03.11C40.200.16.H16 200 92 40 16 50 16 (e} 4.0
PT03.11C40.200.16.H18 200 92 40 18 50 16 C 4.3
PT03.14C40.200.16.H20 200 92 40 20 50 16 C 4.5
14 PT03.14C40.200.16.H24 200 92 40 24 50 16 C 4.7
PT03.14C60.250.18.H20 250 135 60 20 63 18 C 8.6
PT03.14C60.250.18.H24 250 135 60 24 63 18 C 8.9

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

#H = 7 A

% J]E %R Matching Insert

(RO RNON NN NN NN N
V|0V O|0(0|0|0O
RIS Type RIRNIRNIDISIDID
OOl W|WININ|W
Z|lHd|o|o|lo|o |
X3-084508H O O
X3-115008H O O
X3-145008H O O

%
O
|

M T oo
|k B mO
HEeR
A, HAe
s

® E&ZFETF Unallocatedstock O FJ & EETFE Available stock

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com

9€sas
9¢€¢sds

0s¥5ds
H

YtEI7J2 | MILLING TOOLS

Indexable milling tools BIEE{7EkEITIE

HZA R~ (mm) Dimension

7.7 8.5 9.5 4.95
10.7 11.5 1.5 4.95
13.7 14.5 11.5 4.95

O
e

B #% A Main application  [] #A & R Fl Extended application



#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUEHITIR Indexable milling tools
ZHEBEI IR ﬁ%% OmQ ZHENNBEI A ﬁ%% PR K
PT04

= Type

" 2 I = i
£ . . PT04.LN1033.J22.063.08.H6 63 22 34 8 6 13.0 8 K 0.1
- ( A _ . lod | |9C PT04.LN1033.J22.080.10.H6 80 22 34 8 6 215 10 K 0.2
-3 &‘HES/I PT04.LN1033.J27.100.12.H6 100 27 41 12 6 27.0 12 K 03
v .n ~ ; . 1033 PT04.LN1033.J40.125.14.H6 125 40 55 12 6 33.0 14 K 05
ar PT04.LN1033.J40.160.18.H6 160 40 55 12 6 50.0 18 K 0.8
KA PT04.LN1033.J50.200.20.H6 200 50 69 12 6 63.0 20 K 1.2
PT04.LN1033.J50.250.24.H6 250 50 69 12 6 88.0 2 K 2.0

X IR Soa

PT04.LN1238.J22.080.08.H7 80 22 34 12 7 20.0 8 K 0.2
JIEH Diameter TVEap Cutting Edge 711 4847 Insert Screw wF Wieneh PT04.LN1238.J27.100.10.H7 100 27 41 12 7 26.5 10 K 0.3
@D (mm) ; - 1238 PTO4.LN1238.J40.125.12H7 125 40 55 12 7 32.0 12 K 05
. TLEOM2.5X3.2 PT04.LN1238.J40.160.16.H7 160 40 55 12 7 495 16 K 0.8
063-2160 . o T06 PT04.LN1238.J50.200.18.H7 200 50 69 12 7 62.5 18 K 13
6 TLEOM2.5X4.8 PT04.LN1238.J50.250.24.H7 250 50 69 12 7 87.5 2 K 2.1
7 TLEOM4XS5.1 PT04.LN1243.J22.080.08.H8 80 22 34 12 8 205 8 K 0.2
263~ 0250 8 TL60M4X6.6 o PT04.LN1243.J27.100.10.H8 100 27 41 12 8 27.0 10 K 03
9 TLEOM4X7.6 PT04.LN1243.J27.100.10.H8 125 40 55 12 8 325 12 K 0.9
10 TL60M4X8.5 1243  PT04.LN1243.J40.160.16.H8 160 40 55 12 8 50.0 16 K 0.9
A BET R S%iMEEAIEA, Note:Replaceable with Zccct brand inserts. PT04.LN1243.J50.200.18.H8 200 50 69 12 8 63.0 18 K 1.4
PT04.LN1243.J50.250.24.H8 250 50 69 12 8 83.0 24 K 2.3

* JIE#AREIS Type of : '
PT04.LN1248.J27.100.10.H9 100 27 41 12 9 27.5 10 K 0.4

PT04.LN1248.J40.125.12.H9 125 40 55 12 9 33.0 12 K 0.6

1248 PT04.LN1248.J40.160.16.H9 150 40 55 12 9 50.5 16 K 1
PT04.LN1023.J22.063.08.H4 63 22 34 8 4 K 0.1 PT04.LN1248.J50.200.18.H9 200 50 69 12 9 63.5 18 K 16
PTO04.LN1023.J22.080.10.H4 80 22 34 8 4 21.0 10 K 0.1 PTO04.LN1248.J50.250.24.H9 250 50 69 12 9 88.5 24 K 2.6
1023 PT04.LN1023.J27.100.12H4 100 27 41 12 4 27.0 12 K 0.2 PTO4.LN1253.J27.100.10.H10 100 27 21 12 10 28.0 10 K 04
PT04.LN1023.J40.125.14.H4 125 40 55 12 4 32.0 14 K 0.4 PT04.LN1253.J40.125.12.H10 125 40 55 12 10 335 12 K 0.6
PT04.LN1023.140.160.18.H4 | 160 40 55 12 4 50.0 18 K 0.6 1253 PT04.LN1253.J40.160.16.H10 160 40 55 12 10 51.0 16 K 1.1
PT04.LN1028.J22.063.08.H5 63 22 & 8 o 130 & i i PT04.LN1253.J50.200.18.H10 200 50 69 12 10 64.0 18 K 1.8
PT04.LN1028.J22.080.10.H5 80 22 34 8 5 21.0 10 K 0.2 PT04.LN1253.J50.250.24.H10 250 50 69 12 10 89.0 24 K 2.9
1028 PT04.LN1028.J27.100.12H5 100 27 41 12 5 27.0 12 K 0.3
PT04.LN1028.J27.100.12H5 125 40 55 12 5 33.0 14 K 0.4
PT04.LN1028.J40.160.18.H5 160 40 55 12 5 50.0 18 K 0.7

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREGCEFBERAERE] X #EEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

ZENNEE DA P OMWD ZENNHKE DA P OMD
PTO04 /2 ~

. EHAR~H(mm) Dimension
1 Eod]loC
a PT04.LN1033.A22.080.10.H6 80 22 42 50 6 18 10 A 05
PT04.LN1033.A27.100.12.H6 100 27 52 50 6 23 12 A 0.7
1033 PT04.LN1033.B32.125.14.H6 125 32 63 50 6 30 14 B 1.4
" PT04.LN1033.B40.160.18.H6 160 40 76 50 6 41 18 B 14
PT04.LN1033.C40.200.20.H6 200 40 94 50 6 52 20 c 28
PT04.LN1033.C60.250.24.H6 250 60 132 50 6 58 24 © 46
PT04.LN1238.A22.080.08.H7 80 22 42 50 7 18 8 A 05
1238 PT04.LN1238.A27.100.10.H7 100 27 52 50 7 23 10 A 0.7
BEHR PTO4.LN1238.B32.125.12.H7 125 32 63 50 7 30 12 B 1.4
PT04.LN1238.B40.160.16.H7 160 40 76 50 7 41 16 B 14
TJE E1Z Diameter 71%Eap Cutting Edge 2B nsomScrew PT04.LN1238.C40.200.18.H7 200 40 94 50 7 52 18 c 2.9
@D (mm) 9 PT04.LN1238.C60.250.24.H7 250 60 132 50 7 58 24 c 4.7
4 TL60M2.5X3.2
263-0160
5 TL60M2.5X3.9 T06
6 TLOOM2.5%4.8
7 TLEOM4XS5.1
563~ 0250 8 TL60M4X6.6
9 TL60M4X7.6 B
10 TL60M4X8.5

M BET R S5%MSEAEM. Note:Replaceable with Zecct brand inserts.

* 71B#1%BIS Type of

(mm) Dimension

PT04.LN1023.A22.080.10.H4 80 22 10 A 0.4
1023 PTO04.LN1023.A27.100.12.H4 100 27 52 50 4 23 12 A 0.6
PT04.LN1023.B32.125.14.H4 125 32 63 50 4 30 14 B 1.0
PTO04.LN1023.B40.160.18.H4 160 40 76 50 4 41 18 B 1.2
PT04.LN1028.A22.080.10.H5 80 22 42 50 5 18 10 A 0.4
1028 PTO04.LN1028.A27.100.12.H5 100 27 52 50 5 23 12 A 0.6
PT04.LN1028.B32.125.14.H5 125 32 63 50 5 30 14 B 1.0
PT04.LN1028.B40.160.18.H5 160 40 76 50 5 41 18 B 1.2

| SANT

208

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

ZENNEE DA P OMWD ZENNHKE DA P OMD
PTO04 /2 ~

e EHZAR~(mm) Dimension
i Fed
- Eed| |@C mmn
(THg'S
ar PT04.LN1248.A27.100.10.H9 100 27 52 50 9 23 10 A 0.7
PT04.LN1248.B32.125.12.H9 125 32 63 50 9 30 12 B 1.1
1248 PTO04.LN1248.B40.160.16.H9 160 40 76 50 9 41 16 B 15
PT04.LN1248.C40.200.18.H9 200 40 94 50 9 52 18 c 3
PT04.LN1248.C60.250.24.H9 250 60 132 50 9 58 24 c 438
PT04.LN1253.A27.100.10.H10 100 27 52 50 10 23 10 A 0.7
PT04.LN1253.B32.125.12.H10 125 32 63 50 10 30 12 B 1.1
1253 PT04.LN1253.B40.160.16.H10 160 40 76 50 10 41 16 B 15
BEYEO
PT04.LN1253.C40.200.18.H10 200 40 94 50 10 52 18 c 3
* 718 M4 spa
PT04.LN1253.C60.250.24.H10 250 60 132 50 10 58 24 c 5
BEET | tS
J1 B E1Z Diameter J)ZEap Cutting Edge 2B nsomScrew mF Wren;ch
@D (mm) @}é\..
4 TL60M2.5X3.2 % J]F %R Matching Insert
263-2160
TO6
° TLEOM2.5X3.9 alalglglglglalglgle E4R<F(mm) Dimension
. 7]
7 TLEOM4X5.1 o il I Il Il I Bl I
650250 8 TLEOMAXE.6 LNET102304-GM O O 7.5 10 2.3 2.9 0.4
T10
9 TLEOMAXT 6 LNET102804-GM O O 7.5 10 2.8 2.9 0.4
10 TL60M4X8.5 LNET103304-GM (ON@) 7.5 10 3.3 2.9 0.4
M BET R S5%MSEAEM. Note:Replaceable with Zecct brand inserts. LNET123804-GM O O 10 13 3.8 4.4 0.4
LNET124304-GM O O 10 13 4.3 4.4 0.4
* 71E#HEBIS Type of
LNET124804-GM O O 10 13 4.8 4.4 0.4
EHAR~H(mm) Dimension
llooth LNET125304-GM OO0 10 13 5.3 4.4 0.4
oo [ o [ o | o | o [l S o. 0
PT04.LN1243A22.080.08.H8 80 22 42 50 8 18 8 A 0.5 M R 0 O
PT04.LN1243.A27.100.10.H8 100 27 52 50 8 23 10 A 0.7 niﬁﬁk B O
L ad
PT04.LN1243.B32.125.12H8 125 32 63 50 8 30 12 B 1.1
1243 BEE&RE
PT04.LN1243.B40.160.16.H8 160 40 76 50 8 41 16 B 1.4 AL A W S r
AN = AR 7 =) a I
PT04.LN1243.C40.200.18.H8 200 40 94 50 8 52 18 A 2.9
AR
PT04.LN1243.C60.250.24.H8 250 60 132 50 8 58 24 A 47 )
® E&HETF Unallocatedstock O AT FEFF Available stock B # 7 A Main application  [] $RFE R F Extended application

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

ZHENNEGHEINE P OMWD ZHENNBATNE P oM
PTOS5

o - o > Type mm) Dimen

e ) NN
125 40 55 16 34

-
. . PT05.10J40.125.12.H16 20 12 K 1
- I ] PT05.10J40.160.14.H16 160 40 62 20 16 47 14 K 1.8
. ) ‘ 3) PT05.10J50.200.16.H16 200 50 72 20 16 62 16 K 2.9
e 1 10 PT05.10J40.125.12.H18 125 40 55 24 18 34 12 K 1.2
: » PT05.10J40.160.14.H18 160 40 62 24 18 47 14 K 2.1
_ PT05.10J50.200.16.H18 200 50 72 24 18 62 16 K 3.4
PT05.10J50.250.18.H18 250 50 80 24 18 83 18 K 5.5
PT05.14J40.125.10.H20 125 40 55 26 20 34 10 K 1.2
PT05.14J40.160.12.H20 160 40 62 26 20 47 12 K 2.1
7R Insert 711 $8%] Insert Screw #F Wrench PT05.14J50.200.14.H20 200 50 72 26 20 62 14 K 3.5
\ 14 PT05.14J50.250.16.H20 250 50 80 26 20 83 16 K 5.8
LNGX1005000-GM TLEOM3.5X10 T15 PT05.14J40.160.12.H25 160 40 62 30 25 47 12 K 2.8
LNGX1407010-GM TLEOMAX10 T15 PT05.14J50.200.14.H25 200 50 72 30 25 62 14 K 4.5
EM: BETIR SHMNETIEM . Note:Replaceable with Zccet brand inserts. PT05.14.50.250.16.H25 250 50 80 30 2 83 16 K 73

* J1EM#EES Type of

Type EZAR(mm) bimension

PT05.10J27.080.08.H10 80 27 43 14 10 17
PT05.10J32.100.10.H10 100 32 47 14 10 25 10 K 0.37
10 PT05.10J40.125.12.H10 125 40 55 14 10 34 12 K 0.5
PT05.10J40.160.14.H10 160 40 62 14 10 47 14 K 1
PT05.10J50.200.16.H10 200 50 72 14 10 62 16 K 1.6
PT05.14J32.100.08.H12 100 32 47 16 12 25 8 K 0.4
PT05.14J40.125.10.H12 125 40 55 16 12 34 10 K 0.6
" PT05.14J40.160.12.H12 160 40 62 16 12 47 12 K 1.1
PT05.14J50.200.14.H12 200 50 72 16 12 62 14 K 1.8
PT05.10J32.100.10.H14 100 32 47 18 14 25 10 K 0.4
10 PT05.10J40.125.12.H14 125 40 55 18 14 34 12 K 0.9
PT05.10J40.160.14.H14 160 40 62 18 14 47 14 K 1.6
PT05.10J50.200.16.H14 200 50 72 18 14 62 16 K 2.5

THREAKEFRRERBE] X #EHEEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
=ENNHE A P OwD

PTO0S

* 718 KiHF spa

J1 5 Insert 7] B %84T Insert Screw % F Wrench
LNGX10050I0-GM TL60M3.5X10 T15
LNGX140700-GM TL60M4X10 T15

B BETHRSHIMNSEABEH. Note:Replaceable with Zccct brand inserts.

* 71B #1815 Type of
Type EZARH(mm) pimension

Bs @D @d a@c H ap ae max
PT05.10A22.080.08.H10 80 22 45 40 10 20
PT05.10B27.100.10.H10 100 27 55 45 10 24 10 B 0.6
10 PT05.10B32.125.12.H10 125 32 65 45 10 33 12 B 1
PT05.10B40.160.14.H10 160 40 80 50 10 42 14 B 2
PT05.10C40.200.16.H10 200 40 92 50 10 53 16 C 2.9
PT05.14B27.100.08.H12 100 27 55 45 12 24 8 B 0.6
PT05.14B32.125.10.H12 125 32 65 45 12 33 10 B 1
1 PT05.14B40.160.12.H12 160 40 80 50 12 42 12 B 2.1
PT05.14C40.200.14.H12 200 40 92 50 12 53 14 C 2.9
PT05.10B27.100.10.H14 100 27 55) 50 14 24 10 B 0.7
10 PT05.10B32.125.12.H14 125 32 65 50 14 33 12 B 1.2
PT05.10B40.160.14.H14 160 40 80 50 14 42 14 B 2.4
PT05.10C40.200.16.H14 200 40 92 50 14 53 16 C 3.6

§AUI #HI7J2 | MILLING TOOLS

ZENNHHETIA P OmQ

* 718 #MHEES Type of

PT05.10B32.125.12.H16 125 32 65 50 16 33 12 B 1.4
PT05.10B40.160.14.H16 160 40 80 50 16 42 14 B 2.6
PT05.10C40.200.16.H16 200 40 92 50 16 53 16 C 4
10 PT05.10B32.125.12.H18 125 32 65 50 18 33 12 B 1.5
PT05.10B40.160.14.H18 160 40 80 50 18 42 14 B 2.9
PT05.10C40.200.16.H18 200 40 92 50 18 53 16 C 4.3
PT05.10C60.250.18.H18 250 60 132 50 18 58 18 C 7.2
PT05.14B32.125.10.H20 125 32 65 50 20 33 10 B 1.6
PT05.14B40.160.12.H20 160 40 80 50 20 42 12 B 2.7
PT05.14C40.200.14.H20 200 40 92 50 20 53 14 C 4.6
14 PT05.14C60.250.16.H20 250 60 132 50 20 58 16 C 7.4
PT05.14B40.160.12.H25 160 40 80 50 25 42 12 B 3.2
PT05.14C40.200.14.H25 200 40 92 50 25 53 14 C 5.2
PT05.14C60.250.16.H25 250 60 132 50 25 58 16 C 8.6
PT05.14C60.315.20.H25 315 60 132 50 25 90 20 C 13.2

THREGCEFBERAERE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AUI
ﬁll ﬁ ﬁ 7] Kr:i45°  chamfer Milling Tools

ACO1

Dt POND

* 71 B K4 Spare

J1 F Insert 71 5 #2457 Insert Screw % =F Wrench

il
g

SPMT120408 TL60 M5X12 T20

R BETRENSEHRMNESEASREIIF . Note:The insert is Zccct brand.

* 71BHEES Type of

EARF(mm) Dimension Adapter
B0
2
ACO01.12Z20.012.01 12 20 100 40 z
ACO01.12W20.012.01 12 20 100 40 w 1 0.2
AC01.12Z25.025.02 25 25 120 40 z 2 0.4
ACO01.12W25.025.02 25 25 120 40 w 2 0.4
AC01.12Z32.032.03 32 32 180 50 z 3 1.0
AC01.12W32.032.03 32 32 180 50 w 3 1.0

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS
ﬁll % ﬁ 7] Kr:60°  hamfer Milling Tools

DCO1

Dt POND

* 71 ELMH¥ Spare

TR Insert 71 K 5247 Insert Screw #F Wrench

e
L

SPMT120408 TL60 M5X12 T20

FHH: BETREWNSERMNEAREIIF . Note:The insert is Zccct brand.

* J1E##EBIS Type of Milli

EZAR~F(mm) Dimension

DC01.12Z20.012.01 12 20 100 40

DC01.12W20.012.01 12 20 100 40 w 1 0.2
DCO01.12Z25.025.02 25 25 120 40 VA 2 0.4
DCO01.12W25.025.02 25 25 120 40 w 2 0.4
DC01.12Z32.032.02 32 32 180 50 4 2 1.0
DCO01.12W32.032.02 32 32 180 50 W 2 1.0

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

ﬁl]ﬁﬁ)] Kr:30°  chamfer Milling Tools ° w ‘ Q Nﬁ@ jci&!ﬁ)]ﬁ. ~ Q 6 O O Q NJIG
ZCO01 XKO01

L1

9]
[oRe]

* 7T)ELH4 Spare * T ELMH¥ Spare

Tk Insert 71 F #8247 Insert Screw W F Wrench J1 R Insert 7] K %247 Insert Screw | JE#R 42 £T Clamping Screw E#R Clamp R =F Wrench
SPMT120408 TL60 M5X12 T20 SDMT09T3-DM TL60 M3.5X8 T10/T15
L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15

EH: METRFEWNSEHRMNEEAREIIF . Note:The insert is Zccct brand.

FH: METFEWNSERMEEAREIIF .  Note:The insert is Zccct brand.

* 71 B #1#&AIS Type of Millin

* 71B#EES Type of

AR~ (mm) Dimension Adapter| Tooth
te3m| HE

Type EHZA R~ (mm) Dimension Tof),th

Bs HH
ZC01.12W20.012.01 12 20 100 40 W 1 0.2 XK01.09Z25.025.02 25 25 140 60 pA 2
Z2C01.12Z25.025.02 25 25 120 40 zZ 2 0.4 XK01.09Z32.032.03 32 32 150 70 Z 3 0.8
Z2C01.12W25.025.02 25 25 120 40 w 2 0.4 XK01.09Z32.035.03 35 32 150 50 z 3 0.8
Z2C01.12232.032.03 32 32 180 50 zZ 3 1.0 XK01.12Z32.032.02 32 32 150 70 z 2 0.8
Z2C01.12W32.032.03 32 32 180 50 W 3 1.0 XK01.12Z32.040.03 40 32 150 50 z 3 1.3

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

X878 CVO@ P OO Xt 71 CVO@ P OO
XKO01 XKO02

L
L1
=) 0
Y ISS
* J1ELHF Spare
* J1ELHi{F Spare
_ 71 F Insert 7] F 4247 Insert Screw | JE#R42£T Clamping Screw JEHR Clamp #F Wrench
T (reem 71 B 8247 Insert Screw | FEMRIR%T Clamping Screw JEHR Clamp #F Wrench O - : . .
g a WPGT050315ZSR TL60 M3.5X8 To
SDMT09T3-DM TL60 M3.5X8 T10T/T15T WPGT060415ZSR TL60M4X10 Ti5
L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15T WPGT080615ZSR
TL60 M4X10 L60 M5X12 WD208 T20
WPGT090725ZSR

FHH: RETFEWSERMNEEAREIIF . Note:The insert is Zccct brand.
HH: BEDREWNSERMNEEARMIIF.  Note:The insert is Zccct brand.

* 7JE#HEBIS Type of M * J1E RIS Type of Milli

HZA R~ (mm) Dimension

EAR~(mm) bimension

XKO01.09A22.050.04 50 40 22 40

XK02.05Z20.020.02.S
LAV L PG R 63 &0 22 50 WPO5  xK02.05220.020.02.M 20 20 180 100 z 2 0.3
XKO01.09A27.063.06 63 50 27 50 XK02.05220.020.02.L 20 20 250 130 . 5 08
LAV R 63 2 22 50 XK02.06Z25.025.02.5 25 25 140 60 z 2 0.4
XK01.12A27.063.05 63 50 27 50 XK02.06225.025.02.M 25 25 200 120 z 2 06
LA gl e 80 50 27 50 A 5 0.9 XK02.06225.025.02.L 25 25 300 180 z 2 1.0
XK01.12B32.100.06 100 70 32 50 B 6 18 WP0B  ¥k02.06232.032.03.S 3 3 150 0 5 3 08
XK02.06Z32.032.03.M 32 32 200 120 z 3 10
XK02.06232.032.03.L 32 32 300 180 z 3 16
XK02.06232.040.03.S 40 32 150 50 z 3 0.9

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

Xtz 718

* 7NNEHKEST

SANT
v P oo

XK02.06Z32.040.03.M

WPO06
XK02.06Z32.040.03.L 40
XK02.08Z232.040.02.S 40
WP08 XK02.08232.040.02.M 40
XK02.08Z32.040.02.L 40
XK02.09Z32.050.02.S 50
WP09
XK02.09Z32.050.02.M 50

EZARR~H(mm) Dimension Weight

22 (kg)
oo | oo | L] U
40 32 250 50

4 3 1.5
32 300 50 Z 3 1.8
32 150 50 Z 2 0.9
32 250 50 4 2 iIf5
32 300 50 4 2 1.9
32 150 50 4 2 1.9
32 250 50 4 2 25

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

#H = 7 A

YtEI7J2 | MILLING TOOLS

VO P Onao

* 7B K4 Spare

71K Insert 71 K 4247 Insert Screw | FE#RER£TClamping Screw EHR Clamp R =F Wrench
22 % % . '
WPGT060415ZSR TL60 M4X10 T15T
WPGT080615ZSR
TL60 M5X12 TL60 M5X12 WD208 T20T
WPGT090725ZSR

FHH: METFEWSERMNEAREIIA .  Note:The insert is Zccet brand.

* J1E MBS Type of Mil

HZA R~ (mm) Dimension

WP06  XKO02.06A22.050.04 50 40 22 50
XKO02.08A22.050.03 50 40 22 50
XK02.08A22.063.04 63 50 22 50
XKO02.08A27.063.04 63 50 27 50
WP08
XK02.08A27.080.05 80 60 27 50 A 5 1.5
XK02.08B32.100.06 100 70 32 63 B 6 2.2
XK02.08B40.125.07 125 80 40 63 B 7 3.5
XK02.08B40.160.08 160 100 40 63 B 8 6.0
XKO02.09A22.063.03 63 50 22 50 A 3 0.7
XKO02.09A27.080.04 80 60 27 63 A 4 1.4
WPo9 XK02.09B32.100.05 100 70 32 63 B 5 2.1
XKO02.09B40.125.06 125 80 40 63 B 6 3.7
XK02.09B40.160.07 160 100 40 63 B 7 6.3

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AUI

AI(UEEHITIR Indexable milling tools

KT8 oY B oo
XKO03

L1

@D
?d

* 71ELHi+ Spare

TIR 24T Insert Screw #F Wrench

Y

§AUI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

Xt 7R SO P ONO
XKO03

* 71 B+ Spare

T1H Insert 7] K ¥24T Insert Screw #%F Wrench

{;.

WNMX09T316ZNN-MM TL60 M3X7 T10

R MENREENSEZERFLIMTIE ., Note:Theinsertis Korloy brand.

* 71E RIS Type

EARF(mm) Dimension

XKO03.09225.025.02.S 25 25 140 60

XKO03.09225.025.02.M 25 25 200 120 Z 2 0.6
XK03.09Z25.025.02.L 25 25 300 180 z 2 1.0
XKO03.09232.032.03.S 32 32 150 70 yA 3 0.8
XK03.09Z32.032.03.M 32 32 200 120 YA 3 1.1
XK03.09Z32.032.03.L 32 32 300 180 Z 3 1.7
XKO03.09Z32.040.04.S 40 32 150 50 4 4 0.9
XK03.09Z32.040.04.M 40 32 200 50 4 4 1.3
XK03.09Z32.040.04.L 40 32 300 50 4 4 1.8

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com

WNMX09T316ZNN-MM TL60 M3X7 T10T

S METNEBEWSZEZMARMTIIE, Note:The insertis Korloy brand.

* ﬂﬂ*ﬂ*ﬁiqupe of Milling

Type EA R~ (mm) Dimension Adapter| Tooth

&0 Sk
_ “-__ Rt

XKO03.09A16.040.04 A 4

XKO03.09A22.050.05 50 40 22 40 A 5 0.3
XKO03.09A22.063.06 63 50 22 40 A 6 0.5
XKO03.09A27.080.07 80 60 27 50 A 7 1.1
XKO03.09B32.100.08 100 70 32 50 B 8 1.7

THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools RJ#&{UsEHITIE

X478 COQOP P OnO Xi 4R CVQOP P OnT
XK04 0 EXNO3R

L Roughmg Finish

.

Soot. plunge milling Sloulder mllllng Copy milling

*x 71ENKES
* TIRHEE Spi e ERIA 247
s An ! Flute| Applicableinserts | Wrench |  Screw

< EXNO3R-16-100-C16-2T 100 2

> EXNO3R-16-160-C16-2T 16 96 16 40 160 1 2

A SO AR=E JLEtecle LD EXNO3R-17-100-C16-2T 17 10.5 16 35 100 1 2

EB: BMETIRE SRS, FE-FIEB . Note:Replaceable with Zccct/Iscar brand inserts. EXNO3R-17-160-C16-2T 17 10.5 16 40 160 1 2

EXNO3R-18-100-C16-2T 18 115 16 35 100 1 2

EXNO3R-18-160-C16-2T 18 115 16 40 160 1 2

Ty;;e HZAR~F(mm) Dimension EXNO3R-20-130-C20-3T 20 13.5 20 40 130 1 3

== -m“-“ EXNO3R-20-160-C20-3T 20 135 20 45 160 1 3

XK04.08A22.050.04 EXNO3R-21-130-C20-3T 21 145 20 40 130 1 3

XK04.08A22.063.05 o1 63 22 45 2.0 EXNO3R-21-160-C20-3T 21 14.5 20 50 160 1 3

XK04.08A32.080.06 e 80 82 %% 2.0 EXNO3R-22-130-C20-3T 22 155 20 40 130 1 3
LU R 80 100 32 20 2.0 : EXNO3R-22-200-C20-3T 22 155 20 50 200 1 3 LNMUO303ZER T08 M2.5X65

EXNO3R-25-160-C25-4T 25 185 25 50 160 1 3

X J)Fi&$E Matching Insert EXNO3R-25-200-C25-4T 25 185 25 60 200 1 4

512 Type EXNO3R-26-160-C25-4T 26 195 25 50 160 1 4

EXNO3R-26-200-C25-4T 26 195 25 60 200 1 4

WXMUOB0612R-GM @ 13.66 6.8 5.5 1.2 EXNO3R-28-160-C25-4T 28 215 25 50 160 1 4

EXNO3R-28-200-C25-4T 28 215 25 60 200 1 4

n £ O EXNO3R-30-160-C32-5T 30 235 32 50 160 1 5

M T&H O EXNO3R-30-200-C32-5T 30 23.5 32 60 200 1 5

n ek | E EXNO3R-32-160-C32-5T 32 25.5 32 50 160 1 5

&SR b : EXNO3R-32-200-C32-5T 32 255 32 60 200 1 5

WHES. thas ! ' EXNO3R-35-160-C32-5T 35 28.5 32 45 160 1 5

o ) EXNO3R-35-200-C32-5T 35 28.5 32 45 200 1 5

® EHFFETE Unallocatedstock O FJFEETE Available stock M % N A Main application [ # & R F Extended application %iF. 5RERMIIEEB. Note: Replaceable with Tungaloy brand inserts

THREKEFBRIEHE] X ¥I151E % Miwww.hnsant.com THREGCEFBERAERE] X #EEEMKMIEwww.hnsant.com




EE%EIJJR | MOLD MILLING TOOLS §AHI

Xt 7R CVO@ TP 0N
EXNO3R

Roughing Finish

s
2

Sloot. plunge miling Slouider miling  Copy milling

—~ & sRok | 53 | aw
40 40 8.4 1 55

EXNO3R-040-A16-6T 33.6 16 R . 6 G
EXNO3R-050-A22-8T 50 436 22 50 104 1 63 8 g 33“‘/ §

EXNO3R-063-A22-9T 63 56.6 22 50 10.4 1 6.3 9 LNMUO303ZER TO8 M2.5X6.5

EXNO3R-080-A27-10T 80 73.6 27 50 12.4 1 6.3 10

&F. 5RESRMTIEEB., Note: Replaceable with Tungaloy brand inserts.

* JJ B %R Matching Insert

NI OIO|IO|lw]| V| VO
919(9|9(2|9|2|3|3|< HZA R~ (mm) Dimension
Bl = Type w| o X w 5 3 t 8 % g
BRS8N S] 3 L o s
N| N ¢
LNMUO303ZER 0000 o [ ) 11.39 6 4.29 2.8 1.2

<Hx
=
|
|
|
|
|

AEsRE 2iC d |

MHEE. KEE
RREM R
® E&FETF Unallocatedstock O FIEHEETE Available stock B 75 R F Main application  [] #Rf& L A Extended application

THREAKEFEREREBE] X #EHEZEMMiwww.hnsant.com

§AUI HEYEEIJJE | MOLD MILLING TOOLS
Indexable milling tools BIFE{EkEITIE

VoY P Ovo

Kik45 T B keeo

TE90

* 7B M4 Spa

J1 K Insert 71 K 8247 Insert Screw % F Wrench

=l ®

4NKT060308 TL60M3X8 T10

FHH: BENHFSHERMETIFEM. Note:Replaceable with Taegutec brand inserts.

* 71EMEBIS Type of M

Type =% (mm) Dimension A;;E)Iter
—= oo | oo | . | | & | ®
TE90.06D16.016.02.L100 16 16 100 25 6 z 2
TE90.06D16.016.02.L160 16 16 160 25 6 Zz 2
TE90.06D20.020.03.L110 20 20 110 25 6 z 3
TE90.06D20.020.03.L160 20 20 160 25 6 z 3
TE90.06D20.020.03.L200 20 20 200 25 6 z 3
TE90.06D25.025.04.L160 25 25 160 30 6 z 4
TE90.06D25.025.04.L200 25 25 200 30 6 z 4
TE90.06D32.032.05.L160 32 32 160 35 6 z 5
TE90.06D32.032.05.L200 32 32 200 35 6 z 5
TE90.06D32.035.05.L160 32 35 160 35 6 z 5
TE90.06D32.035.05.L200 32 35 200 35 6 z 5
TE90.06D32.040.06.L160 32 40 160 40 6 4 6
TE90.06D32.040.06.L200 32 40 200 40 6 z 6
' TE90.06D32.040.06.L250 32 40 250 40 6 z 6

THREGERFBELAEHE] X ¥1Ei1EEMMEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

*i&gﬁﬂﬁ- Kr:90° ~ 0 6 o O Q M)G ﬂ%fiﬁi‘iﬁﬂ =008 (‘ a 0 @
TE90 PH10

* J1ELH{EF Spare

J1 5 Insert 71 5 %247 Insert Screw #®F Wrench

4NKT060308 TL60M2.5X6.5 TO8

* J1E B Spare

T1E Insert U171} Side Cutting Insert T1 K #24T Insert Screw " F Wrench

FH: BETRSHETREIIFEM. Note:Replaceable with Taegutec brand inserts.

* 71B#EEIS Type of Mil APKT150412 SPMT120408 TL60 M5X12 T20

EH: BENREZWSEH#IMEEA. Note:The Insert Is Zcect brand.

Type EHZAR~H(mm) Dimension A;:I;lgter

s oo | oon | oo | | @ | B
40 50 22 50 6.0

TE90.06A22.050.06 A 6 0.4
TE90.06A22.063.08 50 63 22 50 6.0 A 8 0.6 * J1E &8I S Type of
TE90.06A27.080.10 60 80 27 50 6.0 A 10 1.0
Type EHZAR~T(mm) Dimension
; | = NN
% JJFi%#E Matching Insert
PHO1.12W40.040.02.E55 40 40 175 95 55
o
B2 Type PHO1.12W40.050.04.E55 50 40 175 95 55 w 04 15

4NKTO060308R

® OO0 6.6 6.6 4.6 55 0.8

M THR Om
@d1
K BT 0 O)
ap
AesRE
MHREER. KES ad r t
TRE MR
@ E&EETF Unallocatedstock O FI&FERF Available stock M # 7R A Main application  [] R K. Extended application

THRACEFBEREHBE X #EEZEMNBwww.hnsant.com THREAKEFBERBERAB R #HEEERNBEwww.hnsant.com




#HI7JE | MILLING TOOLS §nuI §AHI #E%%HI7JE | MOLD MILLING TOOLS

. o BAPEIf &M% 7]
ﬂgﬁﬁlﬁﬂ RE:9g (‘ o Q @ BAP right angel shouder end mill

PHO1 g

&

AT
Roughing Finish

L1 Sioot. plunge miling Sloulder miling  Copy milling

R size ERTIA w® EE

NERER h Applicable inserts Teeth e Pressure
Stocked Letms plate
BAP300R-10-130-C10-1T 10|10 [130] 30| - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-11-130-C10-1T 11|10 130 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-12-130-C12-1T 12 |12 13030 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-13-130-C12-1T 13 | 12 |130| 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-16-130-C16-2T 16 | 16 |130| 40 | - | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-16-160-C16-2T 16 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-16-200-C16-2T 16 | 16 | 200 | 40 | 100 | 9 APMT1135PDER 2 To8 M2.5X5
S TIEBHE So BAP300R-17-160-C16-2T 17 | 16 |160| 40 | — | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-17-200-C16-2T 17 | 16 |200| 40 | - | 9 APMT1135PDER 2 TO8 M2.5X5
T M4 77} Side Cutting Insert 71 B 4T Insert Screw 4% Wrench BAP300R-20-130-C20-2T 20 | 20 [130] 40 | - | 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-20-160-C20-2T 20 | 20 |160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-20-200-C20-2T 20 | 20 | 200| 50 | 100| 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-21-160-C20-2T 21 | 20 [160| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
APKT150412 SIAMAIEE. T2 TL6O M5X12 T20T BAP300R-21-200-C20-2T 21 | 20 |200| 50 | - | 9 APMT1135PDER 2 T08 M2.5X5
. o BAP300R-25-160-C25-2T 25 | 25 [160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
R 1R ABMHER RIS . Note:The insert is Zecct brand. BAP300R-25-200-C25-2T 25 | 25 |200| 50 | - | 9 | APMT1135PDER 2 T08 M2.5X5
BAP300R-26-160-C25-2T 26 | 25 |160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-200-C25-2T 26 | 25 [200| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
* 71E##EEIS Type of BAP400R
BAP400R-25-160-C25-2T 25 | 25 [160| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
Type A;;?:tler Eogt; BAP400R-25-200-C25-2T 25 | 25 [200| 75 | - | 14 | APMT1604PDER 2 T15 M4X8
s ““ Bt = BAP400R-25-250-C25-2T 25 | 25 |250| 50 | - | 14 | APMT1604PDER 2 | T15 M4x8
= BAP400R-26-160-C25-2T 26 | 25 |160| 40 | — | 14 | APMT1604PDER 2 T15 M4X8
PH01.12JT50.050.04.084 50 246.75 145 84 JT50 4 BAP400R-26-200-C25-2T 26 | 25 |200| 50 | — | 14 | APMT1604PDER 2 T15 M4X8
T T T e L 63 o . 24 TS0 4 55 BAP400R—-26-250-C25-2T 26 | 25 [250| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
BAP400R-32-160-C25-2T 32 | 25 |160| 50 | - | 14 | APMT1604PDER 2 T15 M4x8
150 PH01.12JT50.063.04.104 63 266.75 165 104 JT50 4 6.0 BAP400R-32-200-C25-2T 32 | 25 |200| 50 | - | 14 | APMT1604PDER 2 T15 M4x8
T (R L - 206.75 . 134 TS0 4 . BAP400R-32-160-C32-3T 32 | 32 [160| 50 | - | 14 | APMT1604PDER 3 T15 M4x8
BAP400R-32-200-C32-3T 32 | 32 |200| 80 | - | 14 | APMT1604PDER 3 T15 M4x8
PHO1.124750.080.04.104 80 266.75 165 104 JT50 4 7.0 BAP400R-32-250-C32-3T 32 | 32 |250| 60 | 115| 14 | APMT1604PDER 3 T15 M4x8
PHO01.12JT50.080.04.144 80 306.75 205 144 JT50 4 7.2 BAP400R-32-300-C32-3T 32 | 32 |300| 60 | 165 | 14 APMT1604PDER 3 T15 M4x8
BAP400R-35-160-C32-3T 35 | 32 |160| 50 | - | 14 | APMT1604PDER 3 T15 M4X8
PH01.12BT50.050.04.084 50 246.75 145 84 BT50 4 48 BAP400R-35-200-C32-3T 35 | 32 |200| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO01.12BT50.063.04.074 63 236.75 135 74 BT50 4 55 BAP400R-35-250-C32-3T 35 | 32 | 250 | 60 | - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-300-C32-3T 35 | 32 [300| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PH01.12BT50.063.04.104 63 266.75 165 104 BT50 4 6.0 BAP400R-35-350-C32-3T 35 | 32 |350| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
BT50 PHO1.12BT50.063.04.134 63 296.75 195 134 BT50 4 6.3 BAP400R-35-400-C32-3T 35 |32 )400] 60 | - | 14 APMT1604PDER 3 T15 M4X8
BAP400R—-40-200-C32-3T 40 | 32 |200| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
FHOTSBTS0.080-05-104 80 266.75 165 104 BT50 4 7.0 BAP400R-40-250-C32-3T 40 | 32 |250| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO1.12BT50.080.04.144 80 306.75 205 144 BT50 4 7.0 BAP400R-40-300-C32-3T 40 | 32 | 300 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-350-C32-3T 40 | 32 [350| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
BAP400R-40-400-C32-3T 40 | 32 |400| 60 | - | 14 | APMT1604PDER 3 T15 M4X8

#iE: BENFEWSR=%. %hilsEAEIR.
THEKEFBERERB R HHEEMMNEBwww.hnsant.com THREEEFERERB K FHEEMMNEBwww.hnsant.com Note: Matching insert we suggest Mitsubishi Zccct brand




HEES%HIJJE | MOLD MILLING TOOLS §Bu1 §Bu1 HEES%HIJJE | MOLD MILLING TOOLS

EMRES3Z$%7] EMRWEE37%%7]
EMR round dowel end mill EMRW round dowel end mill

AmT
Roughing Finish

T -
Roughing Finish o

od

[a) &
) e ] 1

41
v

= oD | od| L | 11| 12| h [ ce Pressure
ESER A ‘ILiEEEiierts ??ﬁ V\leiih P EMRW-6R-32-160-C25-2T | 32 | 25 | 160 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
Slgz)lcked Letl:lras ©D | od L1 h - = e rglsastlére EMRW-6R-32-200-C25-2T | 32 | 25 | 200 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-12-130-C12-1T | 12 | 12 |130| 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-32-250-C25-2T | 32 | 25 | 250 | 60 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-13-130-C12-1T | 13 | 12 | 130 | 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-35-160-C32-3T | 35 | 32 160 | 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-130-C16-2T | 16 | 16 | 130 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-200-C32-3T | 35 | 32 | 200| 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-160-C16-2T | 16 | 16 | 160 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-250-C32-3T | 35 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-200-C16=2T | 16 | 16 | 200 | 40 | 100| 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-300-C32-3T | 35 | 32 300 | 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-160-C16=2T | 17 | 16 | 160 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-350-C32-3T | 35 | 32 | 350 | 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-200-C16-2T | 17 | 16 |200| 50 | - 4 RPMWO0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-200-C32-3T | 40 | 32 (200 | 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-160-C20-2T 20 | 20 | 160 | 50 _ 4 RPMWO0802 MO 2 T10 M3X7 WD-202 EMRW-6R-40-250-C32-3T | 40 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR—4R-20-200-C20-2T | 20 | 20 |200| 50 | 100| 4 RPMWO0802 MO 2 T10 M3X7 | wD—202 EMRW-6R-40-300-C32-3T | 40 | 32 |300| 60 | — 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-21-160-C20-2T | 21 | 20 |160| 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-40-350-C32_3T | 40 | 32 1350 60 - | 6 | RPMW/T1204MO 3 115 | M4X10 | WD_204
EMR-4R-21-200-C20-2T | 21 | 20 | 200 | 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 &iE: BRETDREWSR=ZEMIIF . Note: Matching insert we suggest Mitsubishi brand
EMR-5R-20-160-C20-2T | 20 | 20 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 TRS @%ﬁ%u
EMR-5R-20-200-C20-2T | 20 | 20 | 200 | 50 [100| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 .
EMR-5R-21-160-C20-2T | 21 | 20 | 160 | 50 | - | 5 RPMW1003 MO 2 T15 | M4X10 | WD-204 TRS round dowel end mill POy
EMR-5R-21-200-C20-2T | 21 | 20 | 200 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Rou:f:‘;:';mim
EMR-5R-25-160-C20-2T | 25 | 20 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 .
EMR-5R-25-160-C25-2T | 25 | 25 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 o
EMR-5R-25-200-C25-2T | 25 | 25 |200| 75 | — 5 RPMW1003 MO 2 T15 M4X10 | WD-204 g 2000 NN PP [,
EMR-5R-25-250-C25-2T | 25 | 25 | 250 | 60 | 115| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 h K
EMR-5R-30-160-C25-2T | 30 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 sk > ‘
EMR-5R-30-200-C25-2T | 30 | 25 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 " L
EMR-5R-30-250-C25-2T | 30 | 25 | 250 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 -
EMR-5R-30-300-C25-2T | 30 | 25 | 300 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-35-160-C32-2T | 35 | 32 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 it R e = £t 2 e 5
EMR-5R-35-200-C32-2T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Az p= 0 SGRS oD | od| L | 11|12 ] h Applicable inse - z z EEAUTE
EMR-5R-35-160-C32-3T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 ocked Le plate
EMR-5R-35-200-C32-3T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-12-130-C12-1T 12 | 12 |130| 40 | - 4 RDMT0802MO 1 TO8 M3X7
EMR-5R-35-250-C32-3T | 35 | 32 |250| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-16-160-C16-2T 16 | 16 | 160 | 40 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-300-C32-3T | 35 | 32 | 300| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-160-C20-2T 20 | 20 |160| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-350-C32-3T | 35 | 32 [ 350 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-200-C20-2T 20 | 20 |200| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-400-C32-3T | 35 | 32 {400 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-5R
EMR-5R-40-200-C32-4T | 40 | 32 |200| 50 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-160-C25-2T 25 | 25 |160| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-250-C32-4T | 40 | 32 |250| 60 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-200-C25-2T 25 | 25 |200| 75 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-300-C32-4T | 40 | 32 |300| 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-160-C25-2T 30 | 25 |160| 40 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-350-C32-4T | 40 | 32 | 350 | 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-200-C25-2T 30 | 25 |200| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
. . . . ) o ) . TRS-5R-30-250-C25-2T 30 | 25 |300| 60 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
iR MEASRREREE, R BERRAR . Note: Matehing insertwe suggest Mitsubishi, zecoct brand. TRS-5R-35-160-C32-3T | 35 | 32 [160| 50 | - | 5 RDMT10T3MO 3 T15 | M4x10 | WD-204
TRS-5R-35-200-C32-3T 35 | 32 |200| 50 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204
TRS-5R-35-250-C32-3T 35 | 32 |250| 60 | — 5 RDMT10T3MO 3 T15 M4X10 | WD-204

&iE: BEDREWSRBILIETIFA. Note: Matching insert we suggest Hitachi brand

THREGEFBERLEHE] X #EIEEMMIEwww.hnsant.com THRAKEFERERBE X #EEZEMNwww.hnsant.com




RESHITIER

MOLD MILLING TOOLS

B = 71 A

B o= 71 A

REHHITIA

MOLD MILLING TOOLS

Indexable milling tools AJ&&{EEEITIE

N =
BAP EfiRE=H#T] EMRW E 8524t 7]
BAP right angle shoulder face mill EMRW round dowel face mill *%. —
Roughing Finish
- Od 1 ,d [ 1y ghing
— " |
i1 - - / :1
i 7 = W T l H 7 T
i Roughing Finish 4 /
7 ; ©
//' i 2, T : _?-ﬂ
5 T ; T
" ®D .
,}{/ 7 - |« .
oD . = FH = HEE =
S, plnge miling Slouldermﬂlmg Copymulmg A7 = O ADD ble a a Dre o
B oD|od| H| W | T | a essu
EEE RE 24T IR EMRW-6R-50-22-4T 50 | 22 | 50 |10.4/ 63| 6 RPMW/T1204MO0O 4 T15 M4X10 | WD-204
—, = 2 . . . EMRW-6R-63-22-4T 63 | 22 | 50 {104/ 6.3 | 6 RPMW/T1204MO0O 4 T15 M4X10 | WD-204
RIS e Applicable inserts Teeth ~ Wrench  Screw  Pressure
Stocked Letms oD | od plate EMRW-6R-63-22-5T | 63 | 22 | 50 |10.4| 6.3 | 6 | RPMW/T1204MO 5 Ti5 | M4X10 | WD-204
B APAGDREE02224T | 50 | 22 | 50 |104| 6.3 | 14 | APMT1804PDER 4 T15 | Maxio | — EMRW-6R-80-27-6T | 80 | 27 | 50 |12.4| 7 | 6 | RPMW/T1204M0 6 T15 | M4X10 | WD-204
BAP400R-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 _ EMRW-6R-100-32-6T 100 | 32 | 50 |14.4| 7 6 RPMW/T1204MO 6 T15 M4X10 | WD-204
BAP400R-63-22-5T 63 | 22 | 50 |10.4| 6.3 | 14 APMT1604PDER 5 T15 M4X10 - TRS. ﬁ%n i METRFBEWNSRB=%TIF, Note: Matching insert we suggest Mitsubishi brand
BAP400R-80-27-6T 80 | 27 | 50 |12.4| 7 14 APMT1604PDER 6 T15 M4X10 - . od
BAP400R-100-32-6T | 100 | 32 | 50 |14.4| 8 | 14 | APMT1604PDER 6 Ti5 | M4x10 - TRS round dowel end mill o E
BAP400R-125-40-6T | 125| 40 | 63 |16.4| 9 | 14 | APMT1604PDER 6 T15 | M4xio | - 1':1?} e Houfﬁm”"ﬁ".sn
#iE: BENRFEWSR=%. %iMEAEIIF . Note: Matching insert we suggest Mitsubishi, Zccect brand ;
,// | // T
/
EMREI&5H4%T] | =}
. h
EMR round dowel face mill oD ¥
od , = = . 5
TR amT 5 =WaE X - X
v Roughing Finish A2 7= O Applicable inse o Pre a
),'{EF e I oD|od| H W [T | a i
1| . ; TRS-5R-50-22-4T 50 | 22 | 50 |10.4/ 6.3 | 5 RDMT10T3MO 4 T15 M4X10 | WD-204
7 T TRS-5R-63-22-4T 63 | 22 | 50 {104/ 63| 5 RDMT10T3MO 4 T15 M4X10 | WD-204
: / TRS-6R-50-22-4T 50 | 22 | 50 |10.4/ 6.3 | 6 RDMT1204MO0 4 T15 M4X10 | WD-204
] o TRS-6R-63-22-4T 63 | 22 | 50 {104/ 6.3 | 6 RDMT1204MO0 4 T15 M4X10 | WD-204
= s.m,,m,.gem.m,.g Siouldermilling  Copy milling TRS-6R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 6 RDMT1204MO0 5 T15 M4X10 | WD-204
- @D » TRS-6R-80-27-6T 80 | 27 | 50 |124| 7 6 RDMT1204MO0 6 T15 M4X10 | WD-204
#iE: BENRFBWSRBAIMII . Matching insert we suggest Hitachi brand
o =X=1I%
KM-45° SH%7]
: R e = y , : KM-45° face mill E
- = O A L en 5 T
.== .-- oD | od H w T a PP O € € € .' . HoughmgFlmsh
EMR-5R-50-22-4T 50 | 22 | 50 {104/ 6.3 | 5 RPMW1003MO0 4 T15 M4X10 | WD-204
EMR-5R-63-22-4T 63 | 22 | 50 {104/ 6.3 | 5 RPMW1003MO0 4 T15 M4X10 | WD-204
EMR-5R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 5 RPMW1003MO0O 5 T15 M4X10 | WD-204
EMR-5R-80-27-6T 80 | 27 | 50 |124| 7 5 RPMW1003MO0 6 T15 M4X10 | WD-204
EMR-5R-100-32-6T 100 | 32 | 50 |14.4] 7 5 RPMW1003MO 6 T15 M4X10 | WD-204
#iE: BETNRBEWSRISORETIF . Note: Matching insert we suggest ISO standard brand u o
VEE oD |od| H | W | T |obD1 it c Al
KM12-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 64 SEKT1204[][] 4 T20 M5X11
KM12-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 77 SEKT1204[][] 4 T20 M5X11
KM12-80-27-5T 80 | 27 | 50 (12.4| 7 94 SEKT1204[][] 5 T20 M5X11
KM12-100-32-5T 100 | 32 | 50 |[14.4| 8 | 114 SEKT1 204\:|_D 5 T20 M5X11

#iF: BENREZWSR=%. hilsEBETI R,
Note: Matching insert we suggest Mitsubishi, Zcccct brand.

THREGEFBERLEHE] X #EIEEMMIEwww.hnsant.com

THREGERFBELAEHE] X ¥1Ei1EEMMEwww.hnsant.com




